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1.
1.

2.

[a] 1
[b] 1 2 
[c] 1, 2
[d] 2

Sol. [B]

1. 

2. 

2.

1. 2.
3.
[a] 1, 2, 3 [b] 3, 2, 1
[c] 2, 1, 3 [d] 2, 3, 1

Sol. [B]
1947 

1948 
1948 

3.

[a]
[b]
[c]
[d]

Sol. [A]
1997 32

1973 

4.

1. 15 (3) -

2. 16 (4) -

1. Consider the following statements -
1. The union of India is not the result of any

agreement between the states.
2. The constituent states do not have the right

to secede from it.
Which of the above provisions ratifies that India
is a 'Union of States'?
[a] Statement 1 only
[b] Both statements 1 and 2
[c] Neither statement 1, nor statement 2
[d] Only statement 2

Sol. [B]
While presenting the draft of the constitution, Dr.
Bhimrao Ambedkar said that despite the
structure of the constitution being federal, the
drafting committee has used the word ‘Union’ for
India, which declares that-
1. Indian federation was not formed by any

agreement between different units/states.
2. The constituent units of India do not have the

right to separate from it.
2. The correct chronological order of the merger

of the following princely states into India is-
1. Hydrabad 2. Junagarh
3. Kashmir
[a] 1, 2, 3 [b] 3, 2, 1
[c] 2, 1, 3 [d] 2, 3, 1

Sol. [B]
October 1947 - Accession of Kashmir (by
Instrument of Accession)
February 1948 - Junagadh merger (by plebiscite)
November 1948 - Merger of Hyderabad (by police
operation)

3. In which of the following cases, the Supreme
Court held the “Right to Constitutional
Remedies” to be the basic structure of the
Constitution?
[a] L. Chandrakumar Case
[b] Waman Rao Case
[c] Minerva Mills Case
[d] Aruna Shanbaug Case

Sol. [A]
In the L. Chandrakumar case 1997, the Supreme
Court considered Article-32 (Right to Constitutional
Remedies) to be included in the basic structure of
the Constitution.
In the Kesavananda Bharti case, 1973, the Supreme
Court gave the principle of ‘Basic Structure of the
Constitution’ which cannot be changed.

4. How many of the following pairs are correctly
matched?
Article Related Provisions
1. Article 15 (3) - Special provision for

women and children
2. Article 16 (4) - Reservation of posts
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3. 15 (5) -
SC/ST 

4. 16 (6) - EWS 
[a] [b]
[c] [d]

Sol. [C]
15 (5) 93 

2005 

SC ST 

5.
[a]
[b]
[c]
[d]

Sol. [A]
1993 

16 (4)
50% 

50% 
6. A

R 17 
[a] A R 
[b] A R R, A 

[c] A R 
[d] A R R, A 

Sol. [D]

17 
17 

7.

1.

2.

in appointment for
backward classes

3. Article 15 (5) - Special provision for
admission of backward
classes SC / ST in all
educational institutions

4. Article 16 (6) - Reservation in
appointment for EWS

[a] Only one pair [b] Only two pairs
[c] Only three pairs [d] All pairs

Sol. [C]
Article 15(5): This article was added by the 93rd
Constitutional Amendment, 2005.
Under this article, all private educational
institutions, aided or unaided, have the right to
make special provisions regarding admission for
socially and educationally backward classes of
citizens or SC or ST except minority educational
institutions. i.e., minority educational institutions
cannot be brought under the ambit of reservation.

5. Indra Sawhney case is related to which of the
following?
[a] Reservation in state services
[b] Freedom of speech and expression
[c] Abolition of child labour
[d] Abolition of untouchability

Sol. [A]
In Indra Sawhney case 1993 (Mandal’s case) The
Supreme Court held that the limit of reservation
in state services under Article 16(4) should not
normally exceed 50%. In some special
circumstances and regions like Manipur, Nagaland
etc. this limit can be more than 50%.

6. Assertion A: Abolition of untouchability is the
only article of absolute nature among all the
Fundamental Rights.
Reason R: There is no exception to Article 17.
[a] A is correct, R is incorrect.
[b] Both A and R are correct but R is not the

correct explanation of A.
[c] A is incorrect, R is correct.
[d] Both A and R are correct and R is the correct

explanation of A.
Sol. [D]

Since the practice of untouchability in any form
is illegal, no person can violate Article 17 under
any circumstances. Thus, having no exceptions
to Article 17, it is the only Article in the
Fundamental Rights which is absolute in nature.

7. Consider the following pairs-
DPSP Ideology

1. Steps taken by state to - Gandhian
establish Village
Panchayats

2. Equal Justice and Free - Liberal
legal aid
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3.

[a] 1 [b] 1 3
[c] 2 3 [d] 1, 2 3

Sol. [A]
8. 42 

1. 39 
2. 43 
3. 43 
4.

48 
[a] 1, 2 4 [b] 1, 3 4
[c] 2 3 [d]

Sol. [A]
9.

A

R

[a] A R R, A 

[b] A R R, A 

[c] A R 
[d] A R 

Sol. [A]
10.

1.

2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [D]
11. 42 

[a] [b]
[c] [d]

Sol. [C]
12.

1.
2.

3. Uniform civil code for - Socialist
all citizens

Which of the above pairs is correctly
matched-
[a] 1 only [b] 1 and 3 only
[c] 2 and 3 only [d] 1, 2 and 3

Sol. [A]
8. What are the provisions included in the ‘Directive

Principles’ by the 42nd Constitutional
Amendment?
1. Equal justice and free legal aid (Article 39 A)
2. Workers’ participation in the management of

industries (Article-43 A)
3. Upgradation of cooperative societies (Article-

43 B)
4. Protection of environment and protection of

forests and wildlife (Article-48 A)
[a] 1, 2 and 4 only [b] 1, 3 and 4 only
[c] 2 and 3 only [d] All of the above

Sol. [A]
9. Consider the following statements and select

the correct code:
Assertion A: The framers of the Constitution
included the Directive Principles as non-justiciable
in nature in the Constitution.
Reason R: Financial constraints were taken into
consideration for implemention of DPSP.
[a] Both A and R are correct and R is the correct

explanation of A.
[b] Both A and R are correct and R is not the correct

explanation of A.
[c] A is correct and R is incorrect.
[d] Both A and R are incorrect.

Sol. [A]
10. With reference to the Directive Principles of the

Indian Constitution, consider the following
statements:
1. The position of Fundamental Rights is more

effective than the Directive Principles.
2. In some cases the Directive Principles have been

given priority over the Fundamental Rights.
Which of the above statement is not correct-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]
11. Which word was not included in the Preamble

by the 42nd Constitutional Amendment?
[a] Socialist [b] Secular
[c] Fraternity [d] None of these

Sol. [C]
12. The number of correctly matched pairs are-

1. Democratic - The head of the state is not
hereditary

2. Sovereignty - The state is independent in



Page 5

all its affairs.
3. Secular - There is no religion of the

state.
4. Republic - The source of power  of the

state is the public.
[a] All the four are correctly matched.
[b] Two are correctly matched
[c] Three are correctly matched
[d] None correctly matched

Sol. [B]
13. Which elements of the Preamble are directly

related to the Fundamental Rights?
[a] Secularism, Equality
[b] Socialism, Justice
[c] Socialism, Secularism
[d] Socialist, Equality

Sol. [A]
14. Consider the following statements-

1. The Preamble is a part of the Indian
Constitution but it does not have binding
effect.

2. It is enforceable by the court.
3. It controls the powers of the Parliament.
4. Preamble can be amended.
Which of the above statements are correct-
[a] 1 and 4 only [b] 2 and 4 only
[c] 1 and 3 only [d] All of the above

Sol. [A]
15. The rights included in Article-19 in the original

constitution were-
1. Right to property
2. Right to strike
3. Freedom of the press
4. Right to profession
[a] 1, 2 only [b] 2, 4 only
[c] 1, 4 only [d] All included

Sol. [C]
16. In the context of Equal Protection of Law, which

of the following statements is an incorrect
statement?
[a] It is taken from USA.
[b] It is derived from England.
[c] Equal protection in equal circumstances.
[d] Discrimination is possible in different

circumstances.
Sol. [B]
17. Meitei are residents of Manipur but they do not

have the right to settle in the areas protected
for Naga and Kuki tribes in their own state.
Naga and Kuki tribes get this protection under
which article?
[a] Article 19 (1) (d) [b] Article 19 (4)
[c] Article 19 (5) [d] Article 19 (1) (e)

Sol. [C]
Article 19 (1) (e) gives any Indian citizen the right
to reside and settle in any part of the territory of

3.
4.

[a]
[b]
[c]
[d]

Sol. [B]
13.

[a]
[b]
[c]
[d]

Sol. [A]
14.

1.

2.
3.
4.

[a] 1 4 [b] 2 4
[c] 1 3 [d]

Sol. [A]
15. 19 

1. 2.
3. 4.
[a] 1  2 [b] 2  4
[c] 1, 4 [d]

Sol. [C]
16.

[a] USA 
[b]
[c]
[d]

Sol. [B]
17.

[a] 19 (1) [b] 19 (4)
[c] 19 (5) [d] 19 (1)( )

Sol. [C]
19 (1)
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19(5)

19 (5)

18. 19 (2)

1.
2.
3.
4.
[a] 1, 3, 4 [b] 3  4
[c] 1  2 [d] 2, 3, 4

Sol. [A]
19(1)

19(2)

1. 

2. 1951 

3.  16 1963 

19.
1.
2.
3.
4. 61 
[a] 2, 3, 4 [b] 2, 4
[c] 1, 2, 3 [d]

Sol. [D]

326 

61 1988 1989 
21 18 

India. But under Article 19(5) of this right,
reasonable restrictions can be imposed for the
‘interest of the general public’ and ‘protection of the
interests of the Scheduled Tribes’.
Therefore, to protect the interests of the Kuki and
Naga tribes, Article 19 (5) deprives the Meitei
people of the right to settle in the protected hill
areas of Manipur.

18. Which of the following reasonable restrictions
imposed on freedom of speech and expression
in Article 19(2) were not part of the original
Constitution?
1. Sovereignty and integrity
2. Security of the State
3. Incitement to an offence
4. Public order
[a] 1, 3, 4 only [b] 3, 4 only
[c] 1, 2 only [d] 2, 3, 4 only

Sol. [A]
Article 19(1) [a] provides for the right to freedom of
speech and expression subject to the reasonable
restrictions mentioned in Article 19(2)-
1. Restrictions mentioned in the original
constitution:-
- Security of the state
- Contempt of court
- Defamation
- Morality/Decency
2. Restrictions included by the First

Constitutional Amendment, 1951-
Friendly relations with foreign states

- Public order
- Incitement to an offence
3. Sovereignty and integrity were included as

restrictions by the 16th Constitutional
Amendment, 1963.

19. Universal adult franchise is characterized by-
1. Provides a sense of security to the minorities.
2. It establishes political freedom and equality.
3. It is a constitutional right in India.
4. The 61st Constitutional Amendment is related

to this.
[a] 2, 3, 4 [b] 2, 4
[c] 1, 2, 3 [d] All of the above

Sol. [D]
By giving everyone the power to vote, it not only
ends the differences of caste, gender and religion
etc. politically among the citizens. But it also
provides a sense of security to minorities by
making them a direct part of politics. There is a
constitutional right under Article-326.
The voting age was raised from 21 to 18 in 1988
to 1989 by the 61st Constitutional Amendment.
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20. ‘Political democracy cannot become permanent
unless there is social democracy at its core’.
Whose statement is this-
[a] Jawahar Lal Nehru
[b] Chandrashekhar Azad
[c] Subhash Chandra Bose
[d] Bhimrao Ambedkar

Sol. [D]
21. How many members were there in the Swaran

Singh Committee?
[a] 10 [b] 11
[c] 12 [d] 13

Sol. [C]
1. Sardar Swaran Singh (Chairman)
2. S.S. Ray 3. V.N. Gadgil
4. B.N. Banerjee 5. Dinesh Goswami
6. D.P. Singh 7. C.M. Stephen
8. H.R. Gokhale 9. Rajni Patel
10. Vasant Sathe 11.V.ASyed Muhammad
12. A. R. Antulay.

22. Match the following-
Provision Constitution amendment
A. National commission 1. 100th

for Backward Classes given
constitutional status

B. Provision for advancement 2. 103rd

of Economically weaker class
C. Goods and Services Tax 3. 102nd

D. Land transfer agreement 4. 101st

with Bangladesh
A B C D A B C D

[a] 2 4 3 1 [b] 1 3 2 4
[c] 3 2 4 1 [d] 4 2 3 1

Sol. [C]
23. Examine the statements with reference to the

104th Constitutional Amendment.
1. Reservation for SC and ST community was

extended for 10 years in Lok Sabha and state
legislative assembly.

2. Reservation of seats for Anglo-Indians in the
Lok Sabha was not extended.

3. The provision of reservation of seats for
Anglo-Indians in the state legislative
assembly will be decided by the state
legislative themselves.

4. Made a provision for reservation in local
bodies for backward classes as well.

Correct statement is-
[a] All of the above [b] 1, 2 and 3
[c] 1, 2 and 4 [d] 1 and 2

Sol. [D]
With the 104th constitutional amendment, the
reservation of SC and ST community in Lok Sabha
and Vidhansabha has been extended for 10 years
till 2030. Along with this, the legislation for the

20.

[a] [b]
[c] [d]

Sol. [D]
21.

[a] 10 [b] 11
[c] 12 [d] 13

Sol. [C]
1. 
2.  S.S.Ray 3.  VN 
4. BN 5. 
6. DP 7. CM 
8. HR 9. 
10. 11. VA 
12. A.R 

22.

A. 1. 100 

B. 2. 103 

C. 3. 102 
D. 4. 101 

A B C D A B C D
[a] 2 4 3 1 [b] 1 3 2 4
[c] 3 2 4 1 [d] 4 2 3 1

Sol. [C]
23. 104 

1. SC ST 10

2.

3.

4.

[a] [b] 1, 2 3
[c] 1, 2 4 [d] 1 2

Sol. [D]
104 SC ST 

10 2030 
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seats of Anglo-Indians in the Lok Sabha and
Vidhansabha was abolished. The seats of the Lok
Sabha and Vidhansabha are decided by the
Parliament and not the Vidhansabha. Under the
voluntary provisions of the 73rd and 74th
legislation, reservation has been made to the
backward classes as per the wishes of the state.

24. Which constitutional amendment was done for
surrender of Indian territory under Indo-Pak
agreement of 1958?
[a] 9th [b] 11th
[c] 13th [d] 14th

Sol. [A]
According to SC’s decision in Berubari case,
constitutional amendment is necessary to cede any
Indian territory. Hence 9th amendment was done.
13th Amendment:- Statehood and special
provisions for Nagaland.
14th Amendment:-
1. Puducherry joined the Indian Union
2. Legislature and cabinet for Himachal,

Manipur, Tripura, Goa, Daman and Diu and
Puducherry.

11th Amendment -
1. Change in the election system of the Vice

President, instead of a joint meeting, the
system of the Electoral College.

2. The election of the President and the Vice-
President cannot be challenged on the ground
of vacancy in the appropriate electoral college.

25. In which of the following did the British
Government propose the constitution of the
Constituent Assembly?
1. August offer 2. Cripps Mission
3. Cabinet Mission 4. Gandhi-Irwin Pact
[a] 1, 2, 3, 4 [b] 2, 3, 4
[c] 1, 3, 4 [d] 1, 2, 3

Sol. [D]
The August Offer of 1940 was the first offer in
which the British Government accepted the
Constituent Assembly theoretically.

26. The two Vice Presidents of the Constituent
Assembly were-
[a] H.C. Mukherjee V.T.Krishnamchari
[b] H.C.Mukherjee, KM.Munshi
[c] V.T. Krishnamachari, Alladi Krishnamachari
[d] Rajendra Prasad, V.T. Krishnamachari

Sol. [A]
The vice-presidents were H.C. Mukherjee and
V.T. Krishnamachari, while the temporary
president was Sachchidanand Sinha, the
permanent president was Rajendra Prasad.

27. In the context of community based representation
in the Constituent Assembly, examine the
following statements:
1. The maximum number belonged to the Hindu

community.

73 74 

24. 1958 

[a] 9 [b] 11 
[c] 13 [d] 14 

Sol. [A]
SC 

9 

13 

14 
1. 
2.

11 
1.

2.

25.

1. 2.
3. 4.
[a] 1, 2, 3, 4 [b] 2, 3, 4
[c] 1, 3, 4 [d] 1, 2, 3

Sol. [D]
1940 

26.
[a]
[b]
[c]
[d]

Sol. [A]

27.

1.
2.
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2. The Anglo-Indian community was not a part
of the Constituent Assembly.

3. Women got only 9 seats in the Constituent
Assembly.

4. The Parsi community also got a place in the
Constituent Assembly.

Select the correct statements-
[a] 1, 3, 4 [b] 1, 4
[c] 1, 2, 4 [d] 1, 2, 3, 4

Sol. [B]
The Hindu community got the maximum number
of seats. 3 were members of the Anglo-Indian
Constituent Assembly. Women got 15 seats. The
Sikh community got 4 seats and the Parsi
community got 3 seats.

28. Consider the following statements with
reference to the Estimates committee of the
Parliament:
1. It was first constituted in 1950 on the

recommendations of the Krishna Menon
Committee.

2. It consists of members from both houses of
Parliament.

3. A minister can be elected as its member but
can not be appointed as its chairman.

Which of the statements given above is/are
correct?
[a] 1 only [b] 3 only
[c] 1 and 2 only [d] None

Sol. [D]
Estimates Committee:
• The origin of this committee can be traced to

the standing finance committee set up in 1921.
• The first Estimates Committee in the post-

independence era was constituted in 1950 on the
recommendation of John Mathai, the then finance
minister.
The committee on Public Undertakings was
established on the recommendation of the
Krishna Menon Committee.

• Originally, it had 25 members but in 1956 its
membership was raised to 30.

• All the thirty members are from Lok Sabha only.
The Rajya Sabha has no representation in this
committee.

• The members are elected by the Lok Sabah
every year from amongst its own members,
according to the principles of proportional
representation by means of a single
transferable vote. Thus, all parties get due
representation in it.

• The term of office is one year.
• A minister cannot be elected as a member of

the committee.
The chairman of the committee is appointed
by the Speaker from amongst its members and

3. 9 

4.

[a] 1, 3, 4 [b] 1, 4
[c] 1, 2, 4 [d] 1, 2, 3, 4

Sol. [B]
3 
15 

4 3 

28.

1. 1950

2.
3.

[a] 1 [b] 3
[c] 1 2 [d]

Sol. [D]

• 1921

•
1950

• 25 1956
30

•

•

•
•

•
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he is invariably from the ruling party.
• The function of the committee is to examine

the estimates included in the budget and
suggest ‘economies’ in public expenditure.
Hence, it has been described as a ‘continuous
economy committee’.

29. Who is the current deputy chairman in Rajya Sabha?
[a] Shri K. Rahman Khan
[b] Prof P.J. Kurien
[c] Shri K. Rahman Khan
[d] Shri Harivansh Narayan Singh

Sol. [D]
30. Consider the following statements-

1. The maximum number of seats that can be
contested by a candidate in Lok Sabha and
Vidhan Sabha elections is two.

2. As per the existing rules, if a candidate
contests  in one Lok Sabha election from many
constituencies, his/her party should bear the
cost of by-elections to the  constituencies
vacated by him in the event of him winning
in all the constituencies.

Which of the statements given above is/are correct?
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of the above

Sol. [A]
• In the year 1996, by amending the

Representation of the People Act-1951, the
number of seats that can be contested by a
candidate in Lok Sabha and Vidhansabha
elections was limited to 'two' instead of 'three'.

• Whenever a candidate contests from more than
one seat and wins more than one seat, the
candidate has to contest only one seat, due to
which by-elections have to be held for the rest
of the seats. This results in an unavoidable
financial burden on government expenditure,
government employees and other resources to
hold the bye-election against the consequential
resignation. This expenditure is not charged
on the winning candidate.

31. Which of the following motions can censure a
minister?
1. Privilege Motion  2. Censure Motion
3. Calling Attention Motion
Select the correct answer using the code given
below.
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] 1, 2 and 3

Sol. [A]
• Privilege Motion: It is concerned with the

breach of parliamentary privileges by a minister.
It is moved by a member when he feels that a
minister has committed a breach of privilege of
the House or one or more of its members by
withholding facts of a case or by giving wrong

29.
[a]
[b]
[c]
[d]

Sol. [D]
30.

1.

2.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [A]
• 1996 1951

•

31.

1. 2.
3.

[a] 1 2 [b] 2 3
[c] 1 3 [d] 1, 2 3

Sol. [A]
•
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or distorted facts. Its purpose is to censure the
concerned minister. Hence, option 1 is correct.

• Censure Motion: It can be moved against an
individual minister or a group of ministers or
the entire council of ministers. It is moved for
censuring the council of ministers for specific
policies and actions. Hence, option 2 is
correct.

• Calling Attention Motion: It is introduced in
the Parliament by a member to call the
attention of a minister to a matter of urgent
public importance, and to seek an
authoritative statement from him on that
matter. Hence, option 3 is not correct.

32. The format of the oath of office and secrecy by
the Prime Minister of India is in which schedule
of the Constitution of India?
[a] Second [b] Third
[c] Fourth [d] Fifth

Sol. [B]
33. Mark which of the following sentences are

correct about the constitution of Rajya Sabha.
1. The number of members of the Rajya Sabha

should not exceed 250.
2. 12 Nominated members should be from

science, arts, social service and sports fields.
3. The process of election of the members of the

States and Union Territories is the same.
[a] Only 1 is correct
[b] Only 1 and 2 are correct
[c] Only 2 and 3 are correct
[d] Only 1 and 3 are correct

Sol. [A]
In the Rajya Sabha, 12 members are nominated by
the President who have done excellent work in the
field of literature science, art and social service.
The representatives of each State in the council of
States shall be elected by the elected members of
the Legislative Assembly of the State in accor-
dance with the system of proportional represen-
tation by means of the single transferable vote“(5)
The representatives of the Union Territories in the
council of States shall be chosen in such manner
as Parliament may by law prescribe.

34. The oath to be taken by various office bearers
is mentioned in the Third Schedule of the
Indian Constitution. Which of the following is
not mentioned in the Third Schedule?
[a] Judge of the Supreme Court
[b] Judge of the High Court
[c] President
[d] Member of Parliament

Sol. [C]
The oath of the President is not mentioned in the
Third Schedule. The oath of the President is
mentioned in Article 60.

1
•

2
•

3
32.

[a] [b]
[c] [d]

Sol. [B]
33.

/ /
1. 250 

2. 12 

3.

[a] 1 [b] 1 2 
[c] 2 3 [d] 1 3 

Sol. [A]

12 

34.

[a]
[b]
[c] [d]

Sol. [C]

60 
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35. Identify the correct statement regarding the
process of impeachment of the President
mentioned in the Constitution of India.
1. The impeachment process is adopted on the

basis of “violation of the constitution”.
2. The term “violation of the Constitution” has

been clearly defined in the Constitution.
3. The impeachment process can be initiated

only in the ‘Lok Sabha’.
4. Elected members of state legislatures

participate in the impeachment process.
Select the correct answer using the code given below-
[a] 1 only [b] 1 and 3 only
[c] 3 and 4 only [d] 2, 3 and 4 only

Sol. [A]
Article 61 of the Constitution mentions the
process of impeachment of the President. Its basis
is ‘violation of the constitution’.
1. The term “violation of the Constitution” has

not been defined in the Constitution.
2. The process of impeachment of the President

can be initiated in either house of the Parliament.
3. The elected representatives of the State

Legislatures participate in the election of the
President but do not participate in the
impeachment process.

36. Who among the following is the only President
of India who was elected unopposed?
[a] Dr. S. Radha Krishnan
[b] V.V. Giri
[c] Giani Zail Singh
[d]  Neelam Sanjeev Reddy

Sol. [D]
1. The 6th President of India N. Sanjeev Reddy

who served from 1977 to 1982 was the only
President to be elected unopposed.

2. In the presidential election of 1977, 37
candidates had filed their nominations,
during the scrutiny by the Returning Officer,
the nomination papers of 36 candidates were
rejected due to some errors. The only
candidate was N Sanjeevan Reddy who was
declared President.

37. In the context of the 16th Presidential election,
the vote value of the MLA of a State was
determined on the basis of which of the
following census?
[a] 1971 census [b] 1981 census
[c] 2001 census [d] 2011 census

Sol. [A]
The 1971 census is used for the vote value of
legislators in the presidential election.
The 1971 census will be used till 2026 under the
84th constitutional amendment.

38. With reference to the election of the President
in India, consider the following statements.

35.

1.

2.

3.

4.

[a] 1 [b] 1 3
[c] 3 4 [d] 2, 3 4

Sol. [A]
61 

1. 

2. 

3. 

36.

[a] [b]
[c] [d]

Sol. [D]
1. 6th 1977 

1982 

2.  1977 37 

36 

37. 16 

[a] 1971 [b] 1981 
[c] 2001 [d] 2011 

Sol. [A]
1971 

84 2026 1971 

38.
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1. (Elector)
(Preventive Detention)

2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [A]
1974  26 

Mark 

39.

[a] 53 [b] 111
[c] 108 [d] 110

Sol. [B]

111 

40. 123 

[a] [b]
[c] [d]

Sol. [A]
123 

41.

[a] [b]
[c] [d]

Sol. [C]
1977 82 

1967 1969 
1977 

42.

1. 5 

2.

[a] 1 [b] 2

1. If an elector is under preventive detention
during the presidential election, he can send
his vote by post to the Election Commission.

2. The elector is required to fill all the preferences
on the ballot paper.

Which of the above statements is correct-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
Provision under Rule 26 of the President and Vice-
President Rule 1974 that if the elector is under
preventive detention, he can send his vote to the
Election Commission through post from the
preventive place.
It is not necessary for the elector to give preference
to all the candidates for the post of President, it is
necessary to mark the first preference, the remaining
preferences depend on the will of the elector.

39. Under which article of the Indian Constitution,
the veto power has been given to the President?
[a] Article 53 [b] Article 111
[c] Article 108 [d] Article 110

Sol. [B]
When a bill passed by both the Houses of Parliament
is presented to the President, the President exercises
three types of veto under Article 111 – Absolute
veto, suspensory veto and pocket veto. The word
veto is not mentioned in the constitution.

40. Under Article 123, the power of the President
to issue an ordinance is -
[a] Legislative power [b] Judicial power
[c] Executive power [d]Quasi-judicial power

Sol. [A]
The Ordinance power conferred on the President
by Article 123 of the Constitution is a legislative
power.

41. Which of the following Presidents has also been
the Speaker of the Lok Sabha?
[a] Zakir Hussain [b] V. V. Giri
[c] Neelam Sanjeeva Reddy
[d] Fakruddin Ali Ahmed

Sol. [C]
Shri Neelam Sanjeeva Reddy, who was the
President of India from 1977 to 1982, was also the
Speaker of the Lok Sabha.
Shri Neelam Sanjeeva Reddy was the Speaker of
the Lok Sabha from 1967 to 1969 and briefly in
1977.

42. With reference to the term of office of the
President, consider the following statements -
1. The President continues to hold office even

after his term (normally 5 years) until a new
President takes office.

2. A person can be elected only twice for the post
of President in India.

Choose the correct statement from the above-
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[c] 1 2 [d] 1 2
Sol. [A]

56 
5 

a 
57 

2

43. I II 

I II

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

[a] 1 2 3 4 [b] 4 3 2 1
[c] 3 4 1 2 [d] 4 3 1 2

Sol. [B]
72 

44.
1.

2.

3.

[a] [b]
[c] [d]

Sol. [A]
1. 112 - 

1 
2. 117 - 

2 
3. 111 - 

3 
45.

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
Under Article 56, the term of office of the President
is 5 years from the date of assuming office and the
President in India continues to hold office even after
the end of his term until his successor takes office.
The statement is correct.
Under Article 57, a person can be elected to the office
of the President any number of times in India, so
statement 2 is wrong. In the United States, a person
can be elected to the office of President for a
maximum of two times.

43. Match List-I with List-II and select the correct
answer using the codes given below the Lists -

List-I List-II
(Vocabulary) (Meaning)
A. Commute 1. Removal of sentence and

imprisonment by the
President and complete
acquittal of the guilty.

B. Remission 2. Reducing the punishment of
the guilty in special  circumstances.

C. Respite 3. Not the nature of punishment
but reduction in duration.

D. Pardon 4. To change the form of
punishment.

A B C D A B C D
[a] 1 2 3 4 [b] 4 3 2 1
[c] 3 4 1 2 [d] 4 3 1 2

Sol. [B]
Under Article 72 of the Constitution, the President
has been given the power of pardon.

44. Consider the financial powers of the President
of India-
1. The President gets the annual financial

statement placed before the Parliament.
2. In the case of Money Bill, the prior approval

of the President is not necessary.
3. Demands for grants can be made by the ministries

without the recommendation of the President.
How many of the above statements are correct-
[a] Only one [b] Only two
[c] Only three [d] All four

Sol. [A]
1. Art- 112 - Budget (annual financial statement)

is placed before the Parliament every year by
the President. The central government
implements its fiscal policy through the
budget. Hence statement 1 is correct.

2. Art.- 117 - In the case of Money Bill, the prior
approval of the President is necessary. Hence
statement 2 is wrong.

3. Art. 111 - Demands for grants are made after
the recommendation of the President, hence
statement 3 is wrong.

45. Which of the following cabinet committees are
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1.
2.
3.
4.
5.
6.

[a] 1, 2 4 [b] 2, 3 4
[c] 1, 2, 3, 5 6 [d]

Sol. [C]
1. 

2. 

3. 

4. 

5. 
46.

1.
2.
3. GST 
4.

[a] 1 2 [b] 2, 3 4
[c] 1, 2 4 [d] 1, 2, 3 4

Sol. [C]

1. GST 
2. 

47.

1. 2.
3. 4.

[a] 1, 2, 3 [b] 2, 3 , 4
[c] 1, 3, 4 [d] 1, 2 4

Sol. [A]

headed by the Prime Minister?
1. Committee on Security Affairs
2. Cabinet Committee on Economic Affairs
3. Cabinet Committee on Appointments
4. Cabinet Committee on Parliamentary Affairs
5. Cabinet Committee on Investment and Growth
6. Cabinet Committee on Employment and Skill

Training
Select the correct answer using the code given below-
[a] 1, 2 and 4 [b] 2, 3 and 4
[c] 1, 2, 3, 5 and 6 [d] All of the above

Sol. [C]
1. The Prime Minister is the chairman of the

Committee on Security Affairs. It deals with
matters related to national security.

2. The Prime Minister is the chairman of the
Appointments Committee of the Cabinet, which
takes decisions on appointments to senior posts.

3. The Prime Minister is the chairman of the
Cabinet Committee on Economic Affairs, this
is the highest decision-making body on
economic matters of the country.

4. The Prime Minister is the chairman of the
Investment and Growth and Employment and
Skill Training Committee and they have been
constituted recently .

5. The head of the Cabinet of Parliamentary
Affairs is the Defence Minister.

46. Which of the following bodies are headed by
the Prime Minister?
1. National Integration Council
2. NITI Aayog
3. The GST Council
4. National Water Resources Council
Select the correct answer using the code given below-
[a] 1 and 2 [b] 2, 3 and 4
[c] 1, 2 and 4 [d] 1, 2, 3 and 4

Sol. [C]
The chairman of NITI Aayog is the Prime Minister.
Apart from this, the Prime Minister is also the
chairman of National Integration Council,
National Water Resources Council.
1. The chairman of the GST Council is the

Finance Minister.
2. The Minister of State for Finance is its Vice President.

47. Which of the following Prime Ministers had
been the Chief Ministers of the states before
becoming the Prime Minister?
1. V.P. Singh 2. H. D. Deve Gowda
3. Narendra Modi 4. Rajiv Gandhi
Select the correct answer using the code given below-
[a] 1, 2, 3 only [b] 2, 3 only a 4
[c] 1, 3, 4 only [d] 1, 2 and 4 only

Sol. [A] Following Prime Ministers were the Chief
Ministers of their respective states before becom-
ing the Prime Minister.
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1. 1952 1956 

2. P.V 
3. H.D 
4. 
5. 
6. 

48.

1.
2.
3.
4.

[a] 1 2 [b] 2 3
[c] 3 4 [d] 1 4

Sol. [C]
1989 

1977 

1991 

49.

[a]
[b]
[c]
[d]

Sol. [A]
222  

50.

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 2 3 4 [b] 2 1 3 4
[c] 2 1 4 3 [d] 1 2 4 3

Sol. [B]
51. 75 

1. Morarji Desai - Chief Minister of Bombay State
from 1952 to 1956.

2. P.V Narasimha Rao was the Chief Minister of
Andhra Pradesh.

3. H.D Deve Gowda was the Chief Minister of
Karnataka.

4. V.P. Singh was the Chief Minister of Uttar
Pradesh.

5. Charan Singh was the Chief Minister of Uttar
Pradesh.

6. Narendra Modi was the Chief Minister of Gujarat.
48. Who among the following were not Members

of Parliament at the time of their appointment
as Prime Minister of India?
1. Chandra Shekhar 2. Charan Singh
3. H.D. Deve Gowda 4. P.V. Narsimha Rao
Correct answer is:
[a] Only1 and 2 [b] Only 2 and 3
[c] Only 3 and 4 [d] Only 1 and 4

Sol. [C]
Chandrashekhar - Member of Parliament from
Ballia U.P. in 1989
Chaudhary Charan Singh - Member of Parliament
from Baghpat in 1977
H.D. Deve Gowda - He was the Chief Minister of
Karnataka before becoming the Prime Minister.
After becoming the Prime Minister, was elected
to Parliament as a Rajya Sabha member from
Karnataka.
P.V.Narasimha Rao - After becoming the Prime
Minister, in 1991, he won the by-election from
Nandyal, Andhra Pradesh and became a Mem-
ber of Parliament.

49. The President of India transfer a judge from one
High Court to another High Court, after
Consultation with which of the following?
[a] Chief Justice of India
[b] Governors of related States
[c] Chief Justices of related High Courts
[d] Prime Minister of India

Sol. [A]
Under Article 222, the President of India transfers
a judge from one High Court to another High
Court after consulting the Chief Justice of India.

50. Match the following-
Territory Const. Amend. Act

A. Dadra and Nagar Haveli 1. Twelfth
B. Goa, Daman and Diu 2. Tenth
C. Karaikal, Mahe and Yanam 3. Fourteenth
D. Sikkim 4. Thirty fifth

A B C D A B C D
[a] 1 2 3 4 [b] 2 1 3 4
[c] 2 1 4 3 [d] 1 2 4 3

Sol. [B]
51. Consider the following provisions of Article 75
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A.

B.

C.

D.

[a] A, B, C, D [b] A, B, C

[c] B D [d] A D 

Sol. [D]

75 (1)

75 (2)

75 (3)

75 (4)

75 (5) 6

52.

A. 1921 

B.

C.

D. 22 

[a] A, B, C, D [b] A, B, D

[c] A, B, C [d] B D

Sol. [A]

of the Constitution with regard to Council of
Ministers:
A. The Ministers are appointed by the President

on the advice of the Prime Minister.
B. The Council of Ministers is collectively

responsible to the Parliament.
C. The President shall administer the oath of

office and secrecy to the Minister as per the
form set out in the second schedule of the
constitution.

D. If a Minister is not a member of any House of
Parliament within a period of six months,
shall cease to be a Minister.

Select the correct statements using the codes
given below:

[a] A, B, C, D [b] A, B, C

[c] B and D only [d] A and D only

Sol. [D]

Article 75 (1) The Prime Minister shall be
appointed by the President and other Ministers
shall be appointed by the President on the advice
of the Prime Minister.

Under Article 75(2), the Ministers shall hold office
till the pleasure of the President.

Under Article 75(3), the Council of Ministers is
collectively responsible to the Lok Sabha.

Under Article 75(4), before a Minister enters upon
his office, the President shall administer to him
the oath of office and of secrecy according to the
forms applicable in the Third Schedule.

Article 75 (5) A Minister who is not a member of
either House of Parliament for a continuous
period of six months shall cease to be a Minister
on the expiry of that period.

52. Consider the following about Public Accounts
Committee of Parliament:

A. Initially it was founded in 1921

B. Its tenure is one year

C. Normally headed by a prominent leader of
opposition.

D. It has 22 members in all.

Select the correct statements from the codes given
below:

[a] A, B, C, D [b] A, B, D

[c] A, B, C [d] B and D only

Sol. [A]

The Public account Committee is the oldest of the
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1921
22 15 7

1967

1

53.

i. 1.
ii. 2.

iii. 3.
iv. 4.

i ii iii iv i ii iii iv
[a] 1 2 3 4 [b] 3 1 4 2
[c] 2 1 3 4 [d] 1 3 4 2

Sol. [A]

Hkkx&d esa jkT; Hkkx [k esa jkT; Hkkx&x esa jkT; Hkkx ?k esa jkT;

1- vle 1- gSnjkckn 1- vtesj 1- vaMeku vkSj 

fudksckj }hi lewg

2- fcgkj 2- tEew d'ehj 2- Hkksiky

3- cacbZ 3- eè; Hkkjr 3- fcykliqj

4- eè; izns'k 4- eSlwj 4- dwp fcgkj

5- enzkl 5- ifV;kyk ,oa iwohZ 

iatkc

5- dqxZ

6- mfMlk 6- jktLFkku 6- fnYyh

7- iatkc 7- lkSjk"Vª 7- fgekpy izns'k

8- la;qDr izkar 8- =ko.kdksj &dksphu 8- dPN

9- if'pe caxky 9- foaè; izns'k 9- ef.kiqj

10- f=iqjk

54.

[a] 151 -
[b] 150 -

[c] 149 -

[d] 148 (2) -

Sol. [B]
150 

Finance Committees of the Lok Sabha,constituted
in 1921. There are 22 members of this committee,
out of which 15 are from Lok Sabha and 7 from
Rajya Sabha. According to the practice since 1967,
a member of the opposition party is appointed as
the chairman of this committee. Its tenure is 1
year. This committee reviews the reports of the
Comptroller and Auditor General of India.

53. At the time of commencement of the
Constitution of India, match the parts of the
States and Territories of India mentioned in the
First Schedule of the Constitution.

Category Related region
i. A Category 1. Provinces of former

British India
ii. B Category 2. Five princely states

with legislature
iii. C Category 3. Five union territories
iv. D Category 4. Andaman and

Nicobar Islands
i ii iii iv i ii iii iv

[a] 1 2 3 4 [b] 3 1 4 2
[c] 2 1 3 4 [d] 1 3 4 2

Sol. [A]

54. Among the following the mismatched pairs are-
Article Related provisions

[a] Article 151 - CAG Annual Report
[b] Article 150 - The office expenses of the

CAG are charged on the
Consolidated Fund of India.

[c] Article 149 - The work of maintaining the
accounts of the center and
the states

[d] Article 148 (2)- The oath to the CAG is
administered by the
President.

Sol. [B]
According to Article 150, the CAG prepares the
accounts of the Center and the States, while its
official expenses are mentioned in Article 148 (6)
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148 (6) 

55.
[a] 5 65 
[b] 6 65 
[c] 5 70 
[d] 4 65 

Sol. [B]
6 /65 

[ 148 (1)]
56.

1.

2.

3.

[a] 1 2 [b] 2 3
[c] 1 3 [d]

Sol. [C]

[ 148 (1)]

57. A

R

[a] A R R, A
[b] A R R, A

[c] A R
[d] A R

Sol. [A]
201 

58.
1.

2. 42 1976 

from the Consolidated Fund of India. 
55. The tenure of the Comptroller and Auditor

General is-
[a] 5 years or 65 years of age, whichever is earlier
[b] 6 years or 65 years of age, whichever is earlier
[c] 5 years or 70 years of age, whichever is earlier
[d] 4 years or 65 years of age, whichever is earlier

Sol. [B]
Tenure of CAG - 6 years or 65 years of age,
whichever is earlier, Section - 148 (1)

56. Examine the following points related to the
independence of the Comptroller and Auditor
General-
1. The CAG receives a salary similar to that of a

Supreme Court judge, which is charged on
the Consolidated Fund.

2. Both its appointment and removal are at the
pleasure of the President.

3. Wide independence and security have been
provided to the CAG under the constitution.

Which of the above is a correct statement?
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] All of the above

Sol. [C]
Although the appointment of the CAG is made
by the President, its term of office is not
dependent on the pleasure of the President, it is
provided with the security of term by the  Article
148 (1) of the Constitution.

57. Assertion A: The President has absolute veto
power with respect to State Bills.
Reason R: If the State Legislature passes the Bill
again without any amendment or after
amendment and sends it to the President, he is
not bound to give his assent to it.
[a] Both A and R are correct and R is the correct

explanation of A.
[b] Both A and R are correct but R is not the

correct explanation of A.
[c] A is correct, but R is wrong.
[d] A is wrong, while R is correct.

Sol. [A]
Both the above statements are correct under
Article 201.
Unlike the state legislature, the President is bound
to give assent to bills passed by the Parliament
for the second time.

58. Consider the following statements:
1. The President does not have any veto power

in the bills related to the amendment of the
constitution.

2. The 42nd Constitutional Amendment Act,
1976 made it binding on the President to give
his assent to constitutional amendment bills.

Which of the above is a correct statement:
[a] 1 only [b] 2 only
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[c] Both 1 and 2 [d] None of these
Sol. [A]

The 24th Constitutional Amendment Act, 1971
has bound the President to give his assent to the
Constitutional Amendment Bills.

59. 1. The power of the President to issue
ordinances in all matters, except as to the time
period, is coextensive with the law making
powers of the Parliament.

2. Ordinance can be issued even when there is
no war or external aggression or armed
rebellion.

State the incorrect statement from the above.
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [D]
• The maximum duration of an ordinance is 6

months and in case of non-approval of the
Parliament, it is six weeks.

• The power of the President to issue
ordinances under Article 352 has no
inescapable connection with the emergency.

60. Observe the following facts regarding the
pardoning power of the President-
1. The President is not bound to follow the

advice of the Council of Ministers while
exercising the pardoning power.

2. Like the American President, the Indian
President has the right to pardon only in
matters related to the jurisdiction of the
federal government.

3. If capital punishment is prescribed in the state
law, then the power of pardon will be vested
in the President only.

Choose the incorrect statement from the above-
[a] 1 and 3 only [b] 1 and 2 only
[c] 2 and 3 [d] None of these

Sol. [B]
• The power of pardon is exercised by the President,

like other powers, on the advice of the Council of
Ministers.

• The pardoning powers of American and Indian
President are different. While the US President
can grant pardon only in cases that are within
the jurisdiction of the federal government, the
pardoning power of the President of India is
broad based. Like- cases related to the sentence
given by the military court, which are related to
the executive of the union, in all those cases in
which the sentence is death sentence.

61. With reference to the powers of the President,
consider the following statements and choose
the incorrect option:
[a] The President has the power to make rules of

procedure in respect of a joint sitting of both the
Houses of Parliament.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [A]
24 1971 

59. 1.

2.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [D]
• 6 

•
352 

60.

1.

2.

3.

[a] 1 3 [b] 1 2
[c] 2 3 [d]

Sol. [B]
•

•

61.

[a]
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[b]

[c]

[d]

Sol. [D]

[ 318]
62.

[a]
[b]
[c]
[d]

Sol. [D]

5 

63.

1.
2.

3.

4.

[a] 1 2 [b] 2 4
[c] 1 3 [d] 2 3

Sol. [C]

64.
1. 14 

[b] It is power of the President to specify such castes
and races or tribes which shall be deemed to be
Scheduled Castes, Scheduled Tribes.

[c] Provided that the President has power to make
rules regulating the recruitment and conditions
of service of persons to public services and posts
under the Central Government.

[d] The President has power to make rules regulating
the conditions of service of the members and
employees of the State Public Service
Commission.

Sol. [D]
The President has the power to make rules
regulating the conditions of service of the
members and employees of the Union Public
Service Commission and Joint Public Service
Commission, whereas in the case of State Public
Service Commission this power is vested in the
Governor. Article 318,

62. In which of the following circumstances the
Vice-President does not get the opportunity to
discharge the office of the President-
[a] On resignation of the President
[b] On death or illness of the President
[c] On the removal of the President
[d] Upon the expiration of the term of the

President
Sol. [D]

The election of the next President should be done
before the completion of the term of the President, and
if this does not happen, then the current President will
remain in office even after 5 years, until his successor
takes office.

63. Consider the following statements regarding
the Vice President-
1. The post of Vice President has been taken

from the Constitution of Canada.
2. The post of Vice-President has been created

to maintain political continuity in India.
3. It is mandatory for the candidate to have the

qualification of a member of the Lok Sabha
for this office.

4. The reason for the removal of the Vice-
President from the office is not mentioned in
the constitution.

Choose the incorrect statement from the above:
[a] 1 and 2 only [b] 2 and 4 only
[c] 1 and 3 only [d] 2 and 3 only

Sol. [C]
The office of the Vice-President of India has been
taken from the US Constitution.
To be elected to this post, it is necessary to have
the qualification of a member of Rajya Sabha.

64. Consider the following statements-
1. So far 14 person have been elected as Vice-

Presidents of India.
2. Eligibility for re-election of the Vice-



Page 22

2.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [A]
16 

65.

[a]
[b]
[c]
[d]

Sol. [B]

66.

[a] [b] 42
[c] 46 [d] 50

Sol. [B]
42 1976 

67.

[a]
[b]
[c]
[d]

Sol. [A]
(1967)

24

68.

A. 1. 52

B. 21 2. 61
18 

C. 6 14 3. 86

President has been mentioned in the
constitution.

Which of the above is a true statement:
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [A]
So far, Vice-Presidential elections have been held 16
times in India.
The eligibility for re-election of the Vice-President is
not mentioned in the constitution, but in view of the
political and diplomatic role, the eligibility for re-
election of this post has been recognized, such as the
first Vice-President Dr. Sarvepalli Radhakrishnan had
held this post for two consecutive terms.

65. Which of the following is not a feature of
parliamentary form of government?
[a] In this the executive head is the leader of the

majority party.
[b] There is a clear separation of powers.
[c] There is collective responsibility in this.
[d] In this the executive is more accountable.

Sol. [B]
Clearly the separation of powers is the specialty
of the presidential form of government.

66. Which of the following constitutional amendment
act is also known as 'Mini Constitution'?
[a] First [b] 42nd

[c] 46th [d] 50th

Sol. [B]
Many provisions of the constitution were changed
by the 42nd Constitutional Amendment Act 1976
and many new provisions were added. That's
why it was given the name of mini constitution.

67. In which case was the power of Parliament to
amend the Constitution limited by the Supreme
Court for the first time?
[a] Golaknath Vs. State of Punjab
[b] Shankariprasad Vs. Union of India
[c] Kesavananda Bharathi Vs. State of Kerala
[d] Maneka Gandhi Vs. Union of India

Sol. [A]
Firstly, in the case of Golaknath v. State of Punjab
(1967), the Supreme Court imposed limits on the
power of Parliament to amend the constitution.
Against this, the 24th Constitutional Amendment
Act was brought by the Parliament.

68. Match the following-
Subject Const. Amend.

A. Provision to prevent 1. 52th

defection
B. Voter's age reduced from 2. 61st

21 years to 18 years
C. Free and compulsory 3. 86th

education for all children
in the age group of 6 to



Page 23

D. 4. 91

A B C D A B C D
[a] 1 2 3 4 [b] 4 3 2 1
[c] 2 1 4 3 [d] 3 4 1 2

Sol. [A]
69.

(i)                (ii) 
(iii) (iv) 
(v)
[a] (iii) (iv) [b] (i), (ii) (iv)
[c] (ii), (iii) (v) [d] 

Sol. [D]
• v 52 78

70.

(i) 58
(ii) 59
(iii) 56
(iv) 71

[a] (iii) [b] (i)
[c] (ii) [d] (iv)

Sol. [C]

56
58
59
71

71. 87

[a]
[b]
[c]
[d]

Sol. [D]
• (87)

14 years
D. Limited the size of the 4. 91st

council of ministers

A B C D A B C D

[a] 1 2 3 4 [b] 4 3 2 1

[c] 2 1 4 3 [d] 3 4 1 2
Sol. [A]
69. Which of the following are included in the ex-

ecutive of the Union?
(i) President                (ii) Vice President
(iii) Prime Minister      (iv) Council of Minister
(v) Attorney General
[a] (iii) and (iv) [b] (i), (ii) and (iv)
[c] (ii), (iii) and (v) [d] All of the above

Sol. [D]
• Articles 52 to 78 of Part V of the Constitution

deal with the executive of the Union. The
executive of the Union includes the President,
the Vice President, the Prime Minister, the
Cabinet and the Attorney General.

70. Match the mismatched pair-
Article Provision
(i) 58 - Qualification for election as Presi-

dent
(ii) 59 - Oath in by the President
(iii) 56 - Term of office of President
(iv) 71 - Matters relating to the election of

the President
[a] (iii) [b] (i)
[c] (ii) [d] (iv)

Sol. [C]
Article Provision

56 Term of office of President
58 Qualifications for election as Presi-

dent
59 Conditions of President's office
71 Matters relating to the election of

President
71. The President of India addresses the Parliament

under Article 87 of the Indian Constitutaion.
[a] In a joint sitting of both the Houses of the Parliament
[b] In the joint meeting of both the Houses of the Par-

liament
[c] In the joint session of both the houses of the parlia-

ment
[d] In both the Houses of the Parliament assembled

together
Sol. [D]

• Article (87) After the general elections to the Lok
Sabha, the President will address both the Houses
of Parliament assembled together at the beginning
of the first session and also the President addresses
both the Houses assembled together on the first day
of the first session/session of the year.
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72.

(i)

(ii)

(iii)

[a] (i) (iii) [b] (i)
[c] (ii) [d] (ii) (iii)

Sol. [C]
•

•

73. A

R

[a] A R R, A 
[b] A R R, A 
[c] A R 
[d] R A 

Sol. [A]
74.

(i) 63
(ii) 66
(iii) 69
(iv) 71

[a] (iv) [b] (ii)
[c] (iii) [d] (i)

Sol. [B]

63
66
69
71

72. Consider the following statements related to the
Presidential election-
(i) All disputes related to presidential election

are investigated and decided in the
Parliament and the decision of the
Parliament is final.

(ii) The election of the President cannot be
challenged on the ground that the Electoral
College is incomplete.

(iii) If the appointment of a person as President
is declared invalid by the Parliament, then
the acts done by him before the declaration
by the Parliament shall be deemed invalid.

Choose the correct statements from the above.
[a] (i) and (iii) only [b] (i) only
[c] (ii) only [d] (ii) and (iii)only

Sol. [C]
• All disputes related to the presidential

election are investigated and decided in the
Supreme Court and its decision is final.

• If the appointment of a person as President is
declared invalid by the Supreme Court, the
acts done by him before the declaration of the
Supreme Court shall not be considered invalid
and shall remain in force.

73. Assertion A: Only Dr. Rajendra Prasad assumed
the office of the President twice.
Reason R: In India, the President can be re-elected
to his office.
[a] Both A and R are true and R is correct

explanation of A.
[b] Both A and R are true but R is not correct

explanation of A.
[c] A is true but R is wrong
[d] R is true but A is wrong

Sol. [A]
74. Sort out the mismatched pair.

Article Provision
(i) 63 - The Vice President of India
(ii) 66 - Term of the Vice President
(iii) 69 - Oath in by the Vice President
(iv) 71 - Matters relating to the

election of the Vice-President
[a] (iv) [b] (ii)
[c] (iii) [d] (i)

Sol. [B]
Article Provision
63 Vice President of India
66 Election of Vice President
69 Oath in by the Vice-President
71 Matters relating to the election of the

Vice-President
75. Assertion A: The members of the State Legislative

Assemblies are not involved in the election of the
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75. A

R

(a) A R R, A 

(b) A R R, A 

(c) A R 
(d) R A 

Sol. [A]

76.

(i)

(ii)

[a] (i) [b] (ii)

[c] (i) (ii) [d] (i) (ii)

Sol. [A]

•

77.

(i) 76

(ii) 76

[a] (i) [b] (ii)

[c] (i) (ii) [d] (i) (ii)

Sol. [C]

•
(i) (ii) 

Vice President.
Reason R: The functions of the Vice President are
normal. His main function is to preside over the
Rajya Sabha.
(a) Both A and R are true and R is correct

explanation of A.
(b) Both A and R are true but R is not correct

explanation of A.
(c) A is true but R is wrong
(d) R is true but A is wrong

Sol. [A]
The President is the head of state and is vested

with the powers to administer both the Center and the
States. Thus it is necessary that not only the members
of the Parliament but also the members of the State
Legislature participate in his election. But the functions
of the Vice-President are general. His main function is
to preside over the Rajya Sabha. It is a rare occasion
and that too for a short period of time when he is called
upon to discharge the duties of the President. Thus it
does not seem necessary that the members of the State
Legislatures should be invited to take part in the
election of the Vice-President.”
76. Choose the incorrect statement-

(i) The Vice-President receives the same salary
as the Chairman of the Rajya Sabha when he
acts as President.

(ii) The Vice-President acts as the ex-officio
Chairman of the Rajya Sabha. In this context,
his powers and functions are similar to those
of the Speaker of the Lok Sabha.

[a] (i) only [b] (ii) only
[c] Both (i) and (ii) [d] Neither i nor ii

Sol. [A]
• When the Vice-President works as an acting

President for a period, he does not get the
salary received by the Chairman of the Rajya
Sabha, but he gets the salary and allowances
received by the President.

77. Choose the incorrect statement/statements from
the following.
(i) The Attorney General of India is mentioned

only in Article-76.
(ii) Solicitor General and Additional Solicitor

General have been mentioned in Article 76.
[a] (i) only [b] (ii) only
[c] Both (i) and (ii) [d] Neither (i) nor (ii)

Sol. [C]
• Apart from the Attorney General, there are

other legal officers of the Government of
India- (i) Solicitor General (ii) Additional
Solicitor General.

• These help the Attorney General to fulfill his
responsibility. In Article 76, only the Advocate
General is mentioned, the Solicitor General is
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•
76 

76 
88 

78. A

R

(a) A R R, A 

(b) A R R, A 

(c) A R 

(d) R A 

Sol. [C]

•

79.

1.

2.

3.

4.

[a] 1 4 [b] 3
[c] 4 [d] 1, 2 3

Sol. [C]
• 127

(1991-93)

•
1. 2. 

•
50 100 

•

not mentioned
In addition to Article 76, the Attorney General of
India is also mentioned in Article 88.

78. Assertion A: In India, there is a system of
Supreme Court at the Union level and High Court
at the State level.
Reason R: There is a dual judiciary system in India,
one for the Center and the other for the States.
(a) Both A and R are true and R is correct

explanation of A.
(b) Both A and R are true but R is not correct

explanation of A.
(c) A is true but R is wrong
(d) R is true but A is wrong

Sol. [C]
• The Indian Constitution has established an

integrated judicial system, with the Supreme
Court at the apex and the High Courts
subordinate to it. The categories of
subordinate courts under a High Court (and
below the state level) are District Courts and
other subordinate courts.

79. Choose the incorrect statement regarding the
removal of the judges of the Supreme Court-
1. A Judge of the Supreme Court can be removed

from his office by an order of the President.
2. This order should be supported by a special

majority of both the Houses of the Parliament
i.e. a majority of the total membership of the
House and two-thirds of the members present
and voting in the House.

3. The ground for the removal of a judge should
be his misbehavior or proven misconduct.

4. Supreme Court Justice V. Ramaswamy was
was removed by impeachment.

[a] 1 and 4 only [b] 3 only
[c] 4 only [d] 1, 2 and 3 only

Sol. [C]
• No judge of the Supreme Court has been

impeached so far. The first impeachment case is
of Supreme Court Justice V. Ramaswamy (1991-
93). Although the inquiry committee found him
guilty of misconduct, he could not be impeached
because it could not be passed in the Lok Sabha.

Procedure for removal of a Judge of the Supreme Court
Grounds - 1. Incapacity 2. Proven misconduct
A motion for removal can be moved in either house.
In which the signatures of 50 members of the Rajya
Sabha and 100 members of the Lok Sabha should be
there.
If the motion is accepted, a committee is formed to
investigate the allegations.
If the allegations are found to be true, then the process
goes ahead.
The motion is passed by a special majority in the house,
then it is passed by a special majority in the other
house as well.
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If the resolution is passed in the second house as well,
then the President issues orders for the removal of the
judge.

80. Which of the following provisions have been
included in the Constitution to ensure the
independence and impartial functioning of the
Supreme Court?
1. Method of appointment.
2. Security of tenure.
3. Expenditure from the Consolidated Fund.
4. No debate on the conduct of judges.
5. Reduction in Jurisdiction.
6. No bar on practice after retirement.
[a] 1, 2, 3 and 5 [b] 1, 2, 3 and 6
[c] 1, 2, 3, 4 and 5 [d] 1, 2, 3 and 4

Sol. [D]
The Constitution has made the following
provisions to ensure the independence and
impartial functioning of the Supreme Court.
1. Method of appointment.
2. Security of tenure.
3. Fixed Service Terms.
4. Expenditure from Consolidated Fund.
5. The conduct of judges cannot be debated.
6. Ban on practice after retirement.
7. Power to punish for its contempt.
8. Freedom to appoint own staff.
9. Its jurisdiction cannot be curtailed.
10. Separation from the executive.

81. Choose the correct statement regarding
judicial review-
1. The doctrine of judicial review originated and

developed in America.
2. The power of judicial review has been given

to the Supreme Court and the High Courts
by the Constitution of India.

3. The power of judicial review can be curtailed
by constitutional amendment.

4. Under judicial review, the constitutionality of
legislative enactments and executive orders
is examined.

[a] 1 and 2 [b] 2, 3 and 4
[c] 1 and 4 [d] 1, 2 and 4

Sol. [D]
• Judiciary (Supreme Court and High Court)

has been given the power of judicial review
by the Constitution of India.

• The Supreme Court has declared that the
power of judicial review is a fundamental
feature of the Constitution, however, there is
an element of basic structure in the
Constitution. Therefore, the power of judicial
review can neither be curtailed nor removed
even by constitutional amendment.

82. On which of the following grounds the
constitutional validity of an Act or order can be

•

•

80.

1. 2.
3.
4.
5.
6.
[a] 1, 2, 3 5 [b] 1, 2, 3 6
[c] 1, 2, 3, 4 5 [d] 1, 2, 3 4

Sol. [D]

1. 2.
3.
4.
5.
6.
7.
8.
9.
10.

81.
1.

2.

3.

4.

[a] 1 2 [b] 2, 3 4
[c] 1 4 [d] 1, 2 4

Sol. [D]
•

•
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challenged in the Supreme Court or the High
Court?
(i) If the order or act violates the fundamental

rights.
(ii) If the order or act is beyond the competence of

the authority which made it.
(iii)If the order or act is contrary to the

constitutional provisions.
[a] (i) and (iii) only [b] (i) and (ii) only
[c] (ii) and (iii) only [d] All of the above

Sol. [D]
83. Assertion A: The scope of judicial review in India

is wider than in the U.S.A.
Reason R: In the Constitution of India, due
process of law is preferred to the procedure
established by law.
(a) Both A and R are true and R is correct

explanation of A.
(b) Both A and R are true but R is not correct

explanation of A.
(c) A is true but R is wrong
(d) R is true but A is wrong

Sol. [D]
• The scope of judicial review in India is limited

as compared to the United States.
84. In which case of the Supreme Court, the

meaning of consultation was said to
concurrence-
[a] Third Judges Case
[b] First Judges Case
[c] Second Judges Case
[d] Fourth Judges Case

Sol. [C] Under Article 124, the President appoints the
judges of the Supreme Court, for this he con-
sults the Chief Justice of India.

Consultation means-
1. First Judge's Case 1982 - S. P. Gupta vs. India)

Consultation means exchange of views be-
tween the President and the Chief Justice and
under this the advice given by the Chief Jus-
tice to the President is not binding.

2.  Second Judge Case - 1993
The Supreme Court reversed its earlier deci-
sion and held that the advice given by the two
senior-most judges of the Supreme Court is
binding on the President. In the Second Judge's
case itself, consultation means giving consent.

85. Choose the correct statement regarding the
eligibility of a judge of the Supreme Court-

(i) He must be a citizen of India.
(ii) He must have been a Judge of a High Court

for at least five years.
(iii) The Constitution does not specify the

82.

(i)

(ii)

(iii)

[a] (i) (iii) [b] (i) (ii)
[c] (ii) (iii) [d]

Sol. [D]
83. A

R

(a) A R R, A 
(b) A R R, A 

(c) A R 
(d) R A 

Sol. [D]
•

84.

[a]
[b] 
[c]
[d] 

Sol. [C] 124 

1. 1982 S. P. 

CJI 

2. 1993

CJI 

85.

(i)



Page 29

(ii)

(iii)

[a] (ii) (iii) [b] (ii)
[c] (i) (iii) [d]

Sol. [D]
86. (i)

(ii)

[a] (ii) [b] (i) (ii) 
[c] (i) [d] (i) (ii)

Sol. [A]

1.
2.
3.
4.

87.

[a] 16

[b] 24

[c]

[d] 42
Sol. [A]

16 1983 
19(1)[a]

88.

[a] 26 1949 

[b] 26 1950 

[c] 42

[d] 44
Sol. [C]

minimum age for the appointment of a Judge
of the Supreme Court.

[a] (ii) and (iii) only [b] (ii) only
[c] (i) and (iii) only [d] All of the above

Sol. [D]

86. (i) The appellate jurisdiction of the Supreme Court
of India covers only constitutional matters.

(ii) Disputes relating to the election of the Vice-
President are included in original jurisdiction
of Supreme Court.

Correct statements in above statements are-

[a] (ii) only [b] Both (i) and (ii)
[c] (i) only [d] Neither (i) nor (ii)

Sol. [A]
The Appellate Jurisdiction of the Supreme Court
of India can be classified under four heads.
1. Appeal in constitutional matters
2. Appeal in civil cases
3. Appeal in criminal cases
4. Appeal by special leave

87. Advocacy (support) for secession of a state from
the Union will not be protected on the basis of
the right to freedom of speech. This provision
has been made by-
[a] 16th constitutional amendment
[b] 24th constitutional amendment
[c] First constitutional amendment
[d] 42nd constitutional amendment

Sol. [A]
In the constitution, India has been called a
Union of states, which means that the states will
not have the right to secede from the union. It
has been clarified by the 16th Constitutional
Amendment, 1983 that any such secession will
not be considered as freedom of speech and
expression under Article 19(1) [a].

88. When were the fundamental duties first
mentioned in the constitution?
[a] On 26th November, 1949
[b] On January 26, 1950
[c] By 42nd constitutional amendment
[d] By the 44th Constitutional Amendment

Sol. [C]
10 Fundamental Duties were added by the 42nd
Constitutional Amendment Act, 1976. There is no
mention of fundamental duties in the original
constitution.

89. Which of the following provisions related to
Ministers are included in the Article 75 of the
Indian constitution?
1. Appointment of Ministers
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89. 75

1.

2.

3.

4.

5.

6.
[a] 2, 4, 5, 6 [b] 1, 3, 4, 5
[c] 3, 4, 5, 6 [d] 1, 3, 4, 6

Sol. [D]

74

75 -














90.

1.

2.

3.

[a] 3 [b] 2

[c] 2 3 [d] 1, 2 3

2. Council of Minister to advice the President
3. Maximum number of Ministers in Lok Sabha
4. Ministers shall hold office during the pleasure

of the President
5. Prime Minister as a head of the Council of

Ministers
6. Salaries and allowances of the Ministers
[a] 2, 4, 5, 6 [b] 1, 3, 4, 5
[c] 3, 4, 5, 6 [d] 1, 3, 4, 6

Sol. [D]
Article 74 - There shall be a Council of Ministers
with the Prime Minister at the head to aid and
advise the President.
Article 75- Other provisions as to Ministers.—
 The Prime Minister shall be appointed by the

President and the other Ministers shall be
appointed by the President on the advice of
the Prime Minister.

 The total number of Ministers, including the
Prime Minister, in the Council of Ministers shall
not exceed fifteen per cent. of the total number
of members of the House of the People.

 The Ministers shall hold office during the
pleasure of the President.

 The Council of Ministers shall be collectively
responsible to the House of the People.

 Before a Minister enters upon his office, the
President shall administer to him the oaths of
office and of secrecy according to the forms set
out for the purpose in the Third Schedule.

 A Minister who for any period of six
consecutive months is not a member of either
House of Parliament shall at the expiration of
that period cease to be a Minister.

 The salaries and allowances of Ministers shall be
such as Parliament may from time to time by law
determine and, until Parliament so determines,
shall be as specified in the Second Schedule.

90. With reference to ‘Zero Hour’, consider the
following statements:

1. In India, the proceedings of every
parliamentary sitting start with Zero Hour.

2. It allows the Members of the Parliament to
raise important matters without any prior notice.

3. It is nowhere mentioned in the Rules of
Procedure of the Parliament.

Which of the statements given above is/are correct?

[a] 3 only [b] 2 only
[c] 2 and 3 only [d] 1, 2 and 3

Sol. [C]

• Zero Hour is an informal device available to
the members of the Parliament to raise
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Sol. [C]





1962


11 12 

11 12 

91.

[a]

[b]

[c]

[d]

Sol. [A]

matters without any prior notice.
• Unlike the question hour, the zero hour is not

mentioned in the Rules of Procedure. It is an
Indian innovation in the field of
parliamentary procedures and has been in
existence since 1962.

 The meeting of Rajya Sabha begins with Zero
Hour (the first hour of the sitting is generally
11 to 12 noon) and the Lok Sabha begins with
the Question Hour (the first hour of the sitting
is generally 11 to 12 noon).

91. Consider the following statement about Prime
Minister of India and choose the incorrect one-

[a] Jawaharlal Nehru  was the First Prime Minister
of India who was a member of the Rajya Sabha.

[b] Rajiv Gandhi was the Youngest Indian Prime
Minister.

[c] Indira Gandhi is the Second Longest Serving
Indian Prime Minister.

[d] Gulzari Lal Nanda is the only man to have
twice served as acting prime minister of India.

Sol. [A]
Indira Gandhi was the first Prime Minister who

was a member of the Rajya Sabha.
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Ø- la- uke tUe&eR̀; q dk; Zdky jk spd rF;

1 tokgj yky usg: (1889-1964)
15 vxLr 1947-27 ebZ 1964   

16 lky] 286 fnu-

Lora= Hkkjr ds çFke ,oa lcls yEcs le; 

rd ç/kuea=h jgsA fdlh ç/kku ea=h dh in 

ij igyh eR̀;qA

2 x qytkj hyky uank (1898-1998) 27 ebZ 1964 ls 9 twu 1964 rd   

13 fnu-

usg: dh vlkef;d eR̀;q ds ckn] ns'k ds 

igys dk;Zokgd ç/ku ea=kh us lÙkk laHkkyhA

3 yky cgkn qj 'kkL=h (1904-1966) 9 twu 1964 ls 11 tuojh 1966 

rd 1 o"kZ] 216 fnu-

1965 esa Hkkjr&ikd ;q) ds nkSjku] og 

^^t; toku t; fdlku** okD;ka'k ds 

çorZd FksA

4 x qytkj hyky uank (1898-1998) 11 tuojh 1966] 24 tuojh 1966 

13 fnu-

Hkkjr ds nks ckj dk;Zokgd ç/kku ea=h ds 

:i esa dk;Z djus okys ,dek=k O;fDrA

5 b afnj k xka/ kh (1917-1984) 24 tuojh 1966 ls 24 ekpZ 1977 

rd 11 lky] 59 fnu-

Hkkjrh; ç/ku ea=kh dh iRuh] ftUgksaus in 

dh 'kiFk yhA

6 eksj kjth nslkb Z (1896-1995) 24 ekpZ 1977 & 28 tqykbZ 1979 

2 lky 126 fnu-

1977 esa vkikrdky ds ckn çFke 

ç/kkuea=hA 81 lky dh mez esa Hkkjr ds 

lcls meznjkt ç/kkuea=h us bLrhQk nsus ls 

igys in dh 'kiFk yhA mudk tUefnu gj 

pkj lky esa ,d ckj euk;k tkrk Fkk 

D;ksafd mudk tUe 29 Qjojh dks gqvk 

FkkA

7 pj.k flag (1902-1987) 28 tqykbZ 1979 ls 14 tuojh 

1980 rd 170 fnu

,dek= ç/kuea=h ftUgksaus dHkh fo/kkueaMy 

dks lacksf/kr ugha fd;kA

8 b afnj k xka/ kh (1917-1984) 14 tuojh 1980 ls 31 vDVwcj 

1984 rd 4 lky] 291 fnu-

1977 esa vkink ds ckn] igys ç/kku ea=h 
1980 esa lÙkk esa ykSVsA vius firk dh 

rjg] mudk Hkh in ij jgrs gq, fu/u gks 

x;kA
9 jktho xk a/ kh (1944-1991) 31 vDVwcj 1984 ls 2 fnlacj 

1989 rd 5 lky 32 fnu-

40 lky dh mez esa og Hkkjr ds lcls 

;qok ç/kku ea=h cusA

10 oh- ih- fl ag (1931-2008) 2 fnl- 1989 ls 10 uoEcj 1990 

rd 343 fnu

vfo'okl er ds ckn in NksM+us okys igys 

ç/kku ea=hA

10 uoEcj 1990 ls 21 twu 1991 

223 fnu 

12 ih- oh- ujflEgk 

jko
(1921-2004)

21 twu 1991 ls 16 ebZ rd 4 
o"kZ 330 fnu 

og vka/kz çns'k ls Fks vkSj ns'k ds igys 

nf{k.k Hkkjrh; ç/kku ea=h ds :i esa 

dk;Zjr FksA

13 vVy fcgkj h 

oktis;h
(1924-2018) 16 ebZ 1996 ls 1 twu 1996 

fdlh Hkh Hkkjrh; ç/kkuea=h dk ç/kkuea=h 

ds :i esa lcls NksVk dk;Zdky 16 fnuksa 

dk gSA

1 twu 1996 ls 21 vizSy 

324 fnu 

21 vizSy 1997 ls 19 ekpZ 1998 

332 fnu 

19 ekpZ 1998 ls 22 ebZ 2004 

6 o"kZ 64 fnu 

22 ebZ 2004 ls 26 ebZ 2014 

10 o"kZ 4 fnu 

18 uj saæ ek snh (tUe 1950) 2014 ls orZeku 

eksnh ls igys rhu ç/kkueaf=;ksa us nks ;k 

mlls vf/kd dk;Zdky iwjk fd;kA 2019 

esa mUgsa Hkh bl çfrf"Br lwph esa tksM+k x;kA

17 eueksgu flag (tUe 1932)
Hkkjr ds çFke ç/kkuea=h vYila[;d 

leqnk; lsA

15 b aæ d qekj x qtjky   (1919-2012)
baæk xka/kh vkSj nsoxkSM+k ds ckn mPp lnu 

ls vkus okys rhljs ç/kkuea=h-

16 vVy fcgkj h 

oktis;h
  (tUe 1924-

2018)

viuk iwjk dk;Zdky iwjk djus okys Lora= 

Hkkjr ds igys xSj&dkaxzslh ç/kkuea=hA

11 pUnz'k s[kj (1927-2007) mUgksaus dHkh Hkh fdlh ea=kky; esa ea=kh dk 

in ugha laHkkyk gSA

14 ,p- Mh- nso sxk SM +k (tUe 1933)
og nf{k.k Hkkjr ds nwljs ç/kku ea=h ds 

:i esa lQy gq,A og dukZVd ds ewy 

92.
102

[a]
[b]

[c]
[d]

Sol. [B]
102

1.

(a)

(b)

(c)
(d)

S. No. Names Birth-Death Tenure Interesting Facts 
1. Jawahar Lal Nehru (1889–1964) 15 August 1947-27 

May 1964 
16 years, 286 days. 

Prime Minister of independent 
India for the first and longest 
period. First in-office death of a 
prime minister. 

2. Gulzarilal Nanda (1898–1998) 27 May 1964 to 9 
June 1964 
13 days. 

After Nehru’s untimely death, 
the nation’s first acting prime 
minister assumed control. 

3. Lal Bahadur Shastri (1904–1966) 9 June 1964 to 11 
January 1966 
1 year, 216 days. 

During the Indo-Pak war in 
1965, he was the originator of 
the phrase “Jai Jawan Jai Kisan.” 

4. Gulzarilal Nanda (1898-1998) 11 January 1966, 
24 January 1966 
13 days. 

Only man to have twice served 
as acting prime minister of 
India. 

5. Indira Gandhi (1917–1984) 24 January 1966 to 
24 March 1977 
11 years, 59 days. 

The Indian prime minister’s 
spouse, who took the oath of 
office. 

6. Morarji Desai (1896–1995) 24 March 1977 – 28 
July 1979 
2 years, 126 days. 

First PM in 1977 following the 
emergency. At 81 years old, 
India’s oldest prime minister 
took the oath of office before 
resigning. His birthday was 
celebrated once every four years 
because he was born on 
February 29. 

7. Charan Singh (1902–1987) 28 July 1979 to 14 
January 1980 
170 days. 

Only PM who has never 
addressed the legislature. 

8. Indira Gandhi (1917–1984) 14 Jan.1980 to 31 
Oct. 1984 
4 years, 291 days. 

Following the disaster in 1977, 
the first PM returned to power 
in 1980. Like her father, she also 
passed away while in office. 

9. Rajiv Gandhi (1944–1991) 31 Oct 1984 to 2 
Dec 1989 
5 years, 32 days. 

At the age of 40, he became 
India’s youngest prime minister. 

10. V. P. Singh (1931–2008) 2 Dec 1989 to 10 
Nov 1990 
343 days. 

First prime minister to leave 
following a no-confidence vote. 

11. Chandra Shekhar (1927–2007) 10 Nov 1990 to 21 
June 1991 
223 days. 

He has never held a position of 
minister in any ministry. 

12. P. V. Narasimha 
Rao 

(1921–2004) 21 June 1991 to 16 
May 1996, 4 years, 
330 days. 

He was from Andhra Pradesh 
and served as the nation’s first 
South Indian prime minister. 

13. Atal Bihari 
Vajpayee 

(1924-2018) 16 May 1996 to 1 
June 1996 
16 days. 

The shortest tenure of any 
Indian PM is 16 days as PM. 

14. H. D. Deve Gowda (born 1933) 1 June 1996 to 21 
April 1997 
324 days. 

He succeeded as South India’s 
second prime minister. He is a 
Karnataka native. But he didn’t 
work there for more than a year. 

15. Inder Kumar Gujral  (1919–2012) 21 April 1997 to 19 
March 1998 
332 days. 

After Indra Gandhi and Deve 
Gowda, the third Prime 
Minister to come from the 
Upper House. 

16. Atal Bihari 
Vajpayee 

 (born 1924-
2018) 

19 March 1998 to 
22 May 2004 
6 years, 64 days. 

First non-Congress Prime 
Minister of independent India 
to serve out his full tenure. 

17. Manmohan Singh (born 1932) 22 May 2004 to 26 
May 2014 
10 years, 4 days. 

First PM of India from the 
minority community. 

18. Narendra Modi (born 1950) 2014-Present Three PMs served two terms or 
more prior to Modi. In 2019, he 
too was added to this coveted 
list. 

 

92. Which one of the following provisions is not
mentioned in Article 102 for the Disqualification
of members of either House of parliament?
[a] If he holds any office of profit.
[b] If he is convicted and sentenced to

imprisonment for two years or more.
[c] If he is not a citizen of India.
[d] If he is disqualified by any law made by

parliament.
Sol. [B]

Article 102 states Disqualifications for
membership.—
1. A person shall be disqualified for being

chosen as, and for being, a member of either
House of Parliament—

(a) If he holds any office of profit under the
Government of India or the Government of
any State.

(b) If he is of unsound mind and stands so
declared by a competent court;

(c) If he is an undischarged insolvent;
(d) If he is not a citizen of India, or has voluntarily



Page 33

acquired the citizenship of a foreign State.
(e) If he is so disqualified by or under any law

made by Parliament.
2. A person shall be disqualified for being a

member of either House of Parliament if he is
so disqualified under the Tenth Schedule.

The RPA, 1951 lays down certain rules for
disqualification of MPs and MLAs.
Section 8 (3) of the Act states that if an MP or MLA
is convicted for any other crime and is sent
to jail for 2 years or more, he/ she will be
disqualified for 6 years from the time of release.

93. The Legislative Council in the state can be
abolished by-
[a] President
[b]  State Legislative Assembly
[c] Governor
[d]  Parliament

Sol. [D]
Parliament may by law provide for the abolition
or constitution of the Legislative Council of a State
if the Legislative Assembly passes a resolution to
that effect by a special majority.

94. Consider the following statements about money
bill and choose the incorrect one-
[a] It can be introduced only by a minister.
[b] It can be introduced only on the

recommendation of the president.
[c] It does not requires the certification of the

speaker when transmitted to the rajya sabha.
[d]  It can be rejected or approved but cannot be

returned for reconsideration by the president.
Sol. [C]
95. Match the followings-

A. Public account 1. Adhir Ranjan
committee Chaudhari

B. Estimates committee 2. Sanjay Jaiswal
C. Public undertakings 3. Santosh Kumar

committee Gangwar
A B C A B C

[a] 1 2 3 [b] 2 1 3
[c] 3 1 2 [d] 3 2 1

Sol. [A]
96. The first meeting of lok sabha was conducted

on-
[a] 17 April 1952 [b] 13 May 1952
[c] 3 April 1952 [d] 25 may 1952

Sol. [B]
Lok Sabha came into existence in 17 April 1952.
The First meeting was conducted 13 May 1952.

97. Consider the following statements-
1. Starred questions are to be answered in

writing.
2. Unstarred questions are answered orally.
3. Short notice questions are accepted only after

(e)

2.

1951

8 (3)

2
6

93.
[a] [b]
[c] [d]

Sol. [D]

94.

[a]
[b]

[c]

[d]

Sol. [C]
95.

A. 1.
B. 2.
C. 3.

A B C A B C
[a] 1 2 3 [b] 2 1 3
[c] 3 1 2 [d] 3 2 1

Sol. [A]
96.

[a] 17 1952 [b] 13 1952
[c] 3 1952 [d] 25 1952

Sol. [B]
17 1952

13 1952
97.

1.
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the consent of the Minister.
The correct statements from the above are-
[a] 1 only [b] 3 only
[c] 2 only [d] All of the above

Sol. [B]
Starred Questions - Oral Answer (supplemental
questions may be asked)
Unstarred questions - written answer (No
Supplymentry question)
Short notice questions - oral answers, at least 10
days' notice

98. Consider the following statements about the Pro
Tem Speaker:
1. He/she is elected by the Lok Sabha from

amongst its members.
2. He fixes the date of the election of the Speaker.
3. The President himself administers an oath to

him.
Which of the statements given above is/are correct?
[a] 1 only [b] 3 only
[c] 1 and 3 only [d] 1, 2 and 3

Sol. [B]
• As per the provisions of the Constitution, the

Speaker of the last Lok Sabha vacates his office
immediately before the first meeting of the
newly-elected Lok Sabha. Therefore, the
President appoints a member of the Lok Sabha
as the Speaker Pro Tem. Usually, the
seniormost member is selected for this.

• The President himself administers oath to the
Speaker Pro Tem.

• The Speaker Pro Tem has all the powers of
the Speaker.

• He presides over the first sitting of the newly-
elected Lok Sabha.

• His main duty is to administer the oath to the
new members.

• He also enables the House to elect the new
Speaker.

• The date of the election of the Speaker is
fixed by the President.

• He also administers the floor test.
• When the new Speaker is elected by the

House, the office of the Speaker Pro Tem
ceases to exist. Hence, this office is a
temporary office, existing for a few days.

99. Which of the following statements is correct
about the Speaker of the Lok Sabha?
[a] He can be removed by a resolution passed

by the effective majority of all the members
of the Parliament.

[b] He resigns by writing to the President of India.
[c] When a resolution for his removal is under

consideration of the house, he can not take
part in the proceedings of the house.

[d] Whenever the Lok Sabha is dissolved, the

2.
3.

[a] 1 [b] 3
[c] 2 [d]

Sol. [B]

10 

98.

1.

2.
3.

[a] 1 [b] 3
[c] 1 3 [d]

Sol. [B]
•

•
•
•

•
•

•

•
•

99.

[a]

[b]
[c]
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Speaker does not vacate his office and continues
till the newly-elected Lok Sabha meets.

Sol. [D]
• Usually, the Speaker remains in office during the

life of the Lok Sabha. However, he has to vacate
his office earlier in any of the following three cases:

• if he ceases to be a member of the Lok Sabha;
• if he resigns by writing to the Deputy Speaker;
• if he is removed by a resolution passed by the

effective majority of all the members of the Lok
Sabha. Such a resolution can be moved only after
giving 14 days’ advance notice.

• When a resolution for the removal of the Speaker
is under consideration of the House, he cannot
preside at the sitting of the House, though he may
be present. However, he can speak and take part
in the proceedings of the House at such a time and
vote in the first instance, though not in the case of
an equality of votes.

• Whenever the Lok Sabha is dissolved, the Speaker
does not vacate his office and continues till the
newly-elected Lok Sabha meets.

100. Which of the following statement is not correct
regarding the Delimitation Commission of India?
[a] It is not a permanent body and has been set

up four times in the past in 1952,1962, 1972,
and 2002 .

[b] The delimitation would apply to every
general election to the House of the People
or to a State Legislative Assembly.

[c] The orders issued by it can  be challenged in
Supreme court.

[d] The present delimitation of the parliamentary
and assembly constituencies is based on the
2001 census.

Sol. [C]
• The Delimitation Commission is not a permanent

body and has been established four times earlier
under the Delimitation Commission Act- 1952,
1962, 1972 and 2002.

• Delimitation commission sought to lay down certain
guidelines as to the manner in which such
delimitation would be undertaken.

• The proposed delimitation would apply to every
general election to the house of the people or to a
State legislative Assembly held after the final orders
of the commission are published and to every bye-
election arising from such General election. Hence
option (b) is correct.

• The orders issued by the delimitation commission
become final and cannot be challenged in any
court.

• The present delimitation of parliament and
assembly constituencies is based on 2001 census.

101. A certain sum of money is to be divided between
Adil and Carey in the ratio 7 : 6 respectively. If
half share of Adil is Rs 850 less than Carry’s
total share, then what was the amount?
[a] Rs. 4880 [b] Rs. 4120

[d]

Sol. [D]
•

•
•
•

•

•

100.

[a]
1952,1962, 1972 2002

[b]

[c]

[d] 2001

Sol. [C]

1952,1962, 1972 2002

•

•

(b)
•

• 2001

101. 7 :
6 
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[c] Rs.4420 [d] Rs.53480
Sol. [C]

Let Adil's share = 7k
Carrie's share = 6k
Half of adil's share 

7k
= 3.5k

2
=

6k - 3.5k = 850
2.5k = 850

850
k = = 340

2.5
Grand total = 6×340+7×340

                 = 13×340 = Rs. 4420
102. Two numbers A and B are in the ratio 5 : 2. If 4 is

added to each number, the ratio becomes 9 : 4.
If 5 is subtracted from each of the original
numbers, then the ratio of A and B will be -
[a] 3 : 1 [b] 8 : 3
[c] 7 : 2 [d] 4 : 1

Sol. [A]
Let A = 5x

 B = 2x

According to question, 
5x + 4 9

=
2x + 4 4

By cross multiplication we get,
4(5x+4) = 9 (2x+4)
20x+16=18x+36
20x-18x=36-16

         2x=20
         x=10
     A = 5×10 = 50
     B = 2×10 = 20

required ratio =   
50 - 5 45 3

= = = 3 : 1
20 - 5 15 1

103. If increasing the price of a ticket in the ratio 8 :
11 reduces the number of tickets sold in the ratio
23 : 21, then what is the increase in revenue (in
Rs), if before the increase in the price of the
ticket the revenue was Rs.36,800?
[a] 21250 [b] 9400
[c] 7850 [d] 12850

Sol. [B]
Let price = 8x
New price = 11x
Old sales = 23y
New sales = 21y
Old revenue = 8x×23y=184xy
As per the questions,
184xy=36800

3800
xy - = 200

184
Hence increase in revenue = 11x×21y-8x×23y

850 

[a] 4880 [b] 4120
[c] 4420 [d] 53480

Sol. [C]
= 7k

 = 6k

6k - 3.5k = 850
2.5k = 850

850
k = = 340

2.5

 = 6×340+7×340
            = 13×340 = 4420

102. A B, 5 : 2 
4 9 : 4 

5 A
B 

[a] 3 : 1 [b] 8 : 3
[c] 7 : 2 [d] 4 : 1

Sol. [A]
A = 5x

  B = 2x

5x + 4 9
=

2x + 4 4

4(5x+4) = 9 (2x+4)
20x+16=18x+36
20x-18x=36-16

         2x=20      x=10
     A = 5×10 = 50 B = 2×10 = 20

=  
50 - 5 45 3

= = = 3 : 1
20 - 5 15 1

103. 8 : 11 
23 : 21 

36,800 
[a] 21250 [b] 9400
[c] 7850 [d] 12850

Sol. [B]
= 8x = 11x

= 23y = 21y
= 8x×23y=184xy

184xy=36800
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= 231xy-184xy = 47xy = 47×200 = 9400
104. What number should be added to 103, 135, 110

and 144 each so that the resulting numbers are
in proportion?
[a] 12 [b] 15
[c] 9 [d] 6

Sol. [C]
Let c be added
103+x135+x : : 110+x:144+x

103 + x 110 + x
=

135 + x 144 + x
If 9 is added from the option

from left side = 
112 7

=
144 9

from right side = 
119 7

=
153 9

105. A box contains Rs.5, Rs.2 and Rs.1 coins and
their values are in the ratio 15 : 4 : 2 respectively.
If there are total 112 coins , how many Rs 2 coins
are there in the box?
[a] 32 [b] 48
[c] 64 [d] 24

Sol. [A]
Total coins = 112
Ratio of prices = 15 : 4 : 2

Ratio of numbers = 3 : 2 : 2
15 4 2

: :
5 2 1

Rs. 2 coins= 
2

× 112 = 32
7

106. The ratio of two whole numbers is 5 : 7. Which
of the following can be their sum?
[a] 54 [b] 60
[c] 46 [d] 68

Sol. [B]
Sum of numbers must be a multiple of 12.
So only value that suits = 60
Hence option [B] is correct.

107. The third proportional of (x2 - y2) and (x - y) is-
[a] (x + y) [b] (x - y)

[c]
x y

x y


 [d]

x y

x y




Sol. [D]
Let t be the third proportional to (x2-y2) and (x-y).
Then (x2-y2) : (x-y) : : (x-y) : t
 (x2-y2)t = (x-y)2

3800
xy - = 200

184
= 11x×21y-8x×23y

= 231xy-184xy = 47xy = 47×200 = 9400
104. 103, 135, 110 144

[a] 12 [b] 15
[c] 9 [d] 6

Sol. [C]
x 

103+x:135+x : : 110+x:144+x

103 + x 110 + x
=

135 + x 144 + x
9 

= 
112 7

=
144 9

= 
119 7

=
153 9

105. 5, 2 1 
15 : 4 : 2 

112 2 
[a] 32 [b] 48
[c] 64 [d] 24

Sol. [A]
= 112

= 15 : 4 : 2

= 3 : 2 : 2
15 4 2

: :
5 2 1

2 =
2

× 112 = 32
7

106. 5 : 7 

[a] 54 [b] 60
[c] 46 [d] 68

Sol. [B]
12 

= 60
[B]

107. (x2 - y2) (x - y)
[a] (x + y) [b] (x - y)

[c]
x y

x y


 [d]

x y

x y




Sol. [D]
(x2-y2) (x-y) t 
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(x2-y2) : (x-y) : : (x-y) : t
 (x2-y2)t = (x-y)2


2

2 2
(x - y) (x - y)(x - y) (x - y)

t = = =
(x - y)(x + y) (x + y)(x - y )

108. 2 : 3 
5 : 9 

45000 25000

[a] [b]  5000
[c] 10000 [d] 15000

Sol. [B]
x 

y 

x 2
=

45000 3

25000 5
=

y 9

25000 ×9
y = = 45000, 

5
45000 × 2

x = = 30000
3

2 
= [(30000 - 25000) + (45000 - 45000)] = 5000

109. A B 3 : 5 
A 

2 : 5 A 

[a] 6 [b] 9
[c] 7 [d] 8

Sol. [D]
A, x 


3× x 2

= x = 8
5× 12 5

110. 50,000 
3 

50,000 
7000 

[a] 4000 [b] 3000
[c] 5000 [d]

Sol. [A]

= [(50000×12): (50000×9)]
= 4 : 3


2

2 2
(x - y) (x - y)(x - y) (x - y)

t = = =
(x - y)(x + y) (x + y)(x - y )

108. Between two consecutive years my income is in
the ratio 2 : 3 and my expenditure is in the ratio
5 : 9. If in the second year my income is Rs.45000
and in the first year my expenditure is Rs.25000
then my total savings for two years is-
[a] None [b] Rs.5000
[c] Rs.10000 [d] Rs.15000

Sol. [B]
Let the income of the first year be Rs. x and the
expenditure in the second year is Rs. y is.

Then, 
x 2

=
45000 3

 and 
25000 5

=
y 9

25000 ×9
y = = 45000, 

5
45000 × 2

x = = 30000
3

Total savings of 2 years
= Rs. [(30000 - 25000)+ (45000 - 45000), = Rs.5000

109. A and B started a business by investing money
in 3 : 5 ratio. After few months A moves out of
the business and takes his money back. At the
end of the year they got profits in the ratio 2 : 5.
After how many months did A withdrew his
money?
[a] 6 [b] 9
[c] 7 [d] 8

Sol. [D]
Let A withdraw after x months.
Now according to the question,


3× x 2

= x = 8
5× 12 5

months.

110. Ajay started a business with an investment of
Rs.50,000. Rohit joined him after 3 months, and
also invested Rs.50,000. If the total profit at the
end of the year was Rs.7000, then what was
Ajay’s share in the profit?
[a] Rs. 4000 [b] Rs. 3000
[c] Rs. 5000 [d] None of these

Sol. [A]
Capital ratio of Ajay and Rohit

= [(50000×12): (50000×9)]
= 4 : 3

Ajay's Share 
4

×7000 = 4000Rs.
7

111. In a certain language 'SINGLE' is written as
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 
4

× 7000 = 4000Rs.
7

111. SINGLE '383287242'
'PYRAMID' '32503612634'

'RADIOUS' 

[a] 221834423 [b] 241818453
[c] 361493053 [d] 361434538

Sol. [D]
×2 

A E I O U
1 2 3 4 5

112.  ULTERIOR dks '33259969'
 'NAVIGATION'

(a) 5149722965 (b) 5149712965
(c) 1412297215 (d) 1419712915

Sol. [B]

N        A     V     I     G     A     T      I       O     N
1+4, 0+1, 2+2, 0+9, 0+7, 0+1 2+0, 0+9, 1+5, 1+4
=5149712965

113. AU =21 EGG = 245 'BAKE' 

[a] 110 [b] 19
[c] 75 [d] 155

Sol. [A]

AU   1 × 21 = 21
EGG   5 × 7 × 7 = 245

BAKE   2 × 1 × 11 × 5 = 110
114. CENPNPJL DOOK,

FHNPNPCE 

[a] FOOD [b] GOOD
[c] ROOT [d] FOUR

Sol. [B]

 
C E   N P   N P   J L

D O O K
   

F H   N P   N P   C E

G O O D

115. INSURANCE ECNARUSNI
HINDRANCE

[a] CADNIHWCE [b] HANODEINR
[c] AENIRHDCN [d] ECNARDNIH

Sol. [D]
I  N  S  U  R  A  N  C  E

E  C  N  A  R  U  S  N  I
  

H  I  N  D  R  A  N  C  E

E  C  N  A  R  D  N  I  H

'383287242' and 'PYRAMID' is written as
'32503612634' then how 'RADIOUS' will be
written in the same language?
[a] 221834423 [b] 241818453
[c] 361493053 [d] 361434538

Sol. [D]
Do ×2 in the consonant and keep the order of the
vowels.

A E I O U
1 2 3 4 5

112. In a certain language 'ULTERIOR' is written as
'33259969' then how 'NAVIGATION' will be
written in the same language?
[a] 5149722965 [b] 5149712965
[c] 1412297215 [d] 1419712915

Sol. [B]
The sum of the place value of the letters is kept.
N        A     V     I     G     A     T      I       O     N
1+4,    0+1,  2+2,  0+9, 0+7, 0+1 2+0, 0+9, 1+5, 1+4
=5149712965

113. If AU =21 and EGG = 245 then how can you code
'BAKE' ?
[a] 110 [b] 19
[c] 75 [d] 155

Sol. [A]
Just as,
AU   1 × 21 = 21
EGG   5 × 7 × 7 = 245
Similarly,
BAKE   2 × 1 × 11 × 5 = 110

114. If CENPNPJL is coded as DOOK then how
would you code FHNPNPCE in that code
language?
[a] FOOD [b] GOOD
[c] ROOT [d] FOUR

Sol. [B]

C E   N P   N P   J L

D O O K
    

F H   N P   N P   C E

G O O D

115. If INSURANCE is coded as ECNARUSNI then
how would you code HINDRANCE in that code
language?
[a] CADNIHWCE [b] HANODEINR
[c] AENIRHDCN [d] ECNARDNIH

Sol. [D]

I  N  S  U  R  A  N  C  E

E  C  N  A  R  U  S  N  I
  

H  I  N  D  R  A  N  C  E

E  C  N  A  R  D  N  I  H

116. If VIJAY is coded as YAJIV then how would you
code JAPAN in that code language?
[a] NAPJA [b] NAAPJ
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116. VIJAY YAJIV 
JAPAN 

[a] NAPJA [b] NAAPJ
[c] NPAAJ [d] NAPAJ

Sol. [D]

foijhr Øe

117. NOIDA STNIF MEERUT 

[a] RQIVYX [b] RJJWZV
[c] RJJWZY [d] RIIVYX

Sol. [C]
N  O  I  D  A S   T  N   I  F

+5
+5
+5
+5
+5 

M E E R U T R J J W Z Y
+5
+5
+5
+5
+5
+5

118. BROTHER 2456784  SISTER
919684, ROBBERS 

[a] 18,  15,  22,  5,  18,  19 [b] 4562684
[c] 9245784 [d] 4522849

Sol. [D]
B R O T H E R
      

2 4 5 6 7 8 4
S I S T E R
     
9 1 9 6 8 4
R O B B E R S
      

4 5 2 2 8 4 9

119. ‘you may now leave’ 

‘ho na ta ja’, ‘leave and go’  ‘na pa da’ 

‘now come back’ ‘sa ho ga’ 

‘may’
[a] ho [b] ja

[c] NPAAJ [d] NAPAJ
Sol. [D]

              Reverse order

       Reverse order
117. If NOIDA is coded as STNIF then how would

you code MEERUT in that code language?
[a] RQIVYX [b] RJJWZV
[c] RJJWZY [d] RIIVYX

Sol. [C]

N  O  I  D  A S   T  N   I  F
+5
+5
+5
+5
+5 

M E E R U T R J J W Z Y
+5
+5
+5
+5
+5
+5

118. If BROTHER is coded as 2456784. SISTER is
coded as 919684, what is the code for
ROBBERS?
[a] 18,  15,  22,  5,  18,  19 [b] 4562684
[c] 9245784 [d] 4522849

Sol. [D]
B R O T H E R
      
2 4 5 6 7 8 4

      Then S I S T E R
     
9 1 9 6 8 4

   Therefore.R O B B E R S
      
4 5 2 2 8 4 9

119. In a certain code language ‘you may now
leave’ is written as ‘ho na ta ja’, ‘leave and go’
is written as ‘na pa da’ and ‘now come back’
is written as ‘sa ho ga’. How is ‘may’ written
in that code language?
[a] ho [b] ja
[c] ta [d] ta or ja

Sol. [D]
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[c] ta [d] ta ja

Sol. [D]

you may now leave ho na ta ja

leave and   go na pa da

now come back sa ho ga

‘may’ ‘ta’ ‘ja’
120. 'SHIFT'

'RFFBO'

'LKUMB' 

[a] KIRWI [b] LIRIW
[c] KIRIW [d] KIRJW

Sol. [C]
S  H   I  F  T R  F  F  B  O

–1
–2

–3
–4

–5

=

LKUMB = KIRIW

121

1
2011

2

3

[a] 1 2 [b] 1 3

[c] 2 3 [d]

Sol. [C]

(i)
2010

1958

(ii)
(PIP) (SECC)

(iii) Schemes Run by RAJEEVIKA 

 

  Centre              State 

  

 NRLM   NRETP    Rajasthan  M-Power  
(National Rural livelihood (National Rural Economic Grameen  
Mission )   Transformation Project) Ajeevika 

you may now leave ho na ta ja

leave and   go na pa da

now come back sa ho ga

The code for the word 'may' will be either 'ta' or 'ja'.
120. If 'SHIFT' is coded as 'RFFBO' then how

would you code 'LKUMB' in that code
language?
[a] KIRWI [b] LIRIW
[c] KIRIW [d] KIRJW

Sol. [C]

S  H   I  F  T R  F  F  B  O
–1

–2
–3

–4
–5

=

LKUMB = KIRIW

121. Consider the following statements about
RAJEEVIKA-
1.  It is an autonomous society established in Oc-

tober 2011 under the administrative control of
department of Panchayati Raj.

2. It uses participatory identification process and
Socio Economic Caste Census data to identify
the rural poor.

3. It is state's implementing institute for govern-
ment of India schemes like national rural live-
lihood mission & economic transformation
project.

Select the correct statements from above-
[a] 1 and 2 only [b] 1 and 3 only
[c] 2 and 3 only [d] All are correct

Sol. [C]
(i)  RAJEEVIKA :  Rajasthan Grameen Aajeevika

Vikas Parishad (RGAVP)
     Registered under society registration act, 1958.

Chairman: CM
(ii)  All rural poor are identified through partici-

patory identification process (PIP) and under
Socio-Economic caste census (SECC).

(iii) Schemes Run by RAJEEVIKA 

 

  Centre              State 

  

 NRLM   NRETP    Rajasthan  M-Power  
(National Rural livelihood (National Rural Economic Grameen  
Mission )   Transformation Project) Ajeevika 

122. Consider the following statements about Ma-
hatma Gandhi National rural employment Guar-
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122
(MGNREGS)
1 30 

2

[a] 1 [b] 2
[c] 1 2 [d] 1, 2

Sol. [A]
(i) 2005 2006 

1 2008

100

(ii)
(CMREGS) 2022 23

125

(iii) 15

(iv)

123
A. 75
B. 75 75
C. 75
D. 75 
[a] D [b] A
[c] C [d] B

Sol. [B]
24 2022

75

1
10000

2475
124 31 2022

[a] 43264 [b] 145049
[c] 25768 [d] 186462

Sol. [D]
• 31

2022 186462 10
88 39

• 2011 43 264

antee Scheme (MGNREGS)-
1. Under this, if employment is not provided

within 30 days of application, then there is a
provision of unemployment allowance.

2. At least one-third of the beneficiaries of this
scheme will be women.

Select incorrect statement from above-
[a]  1 only [b] 2 only
[c]  Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
(i) MNREGA scheme - implemented in 2006 by the

Act, 2005. It came into force in the whole country
from 1st April 2008. It is a centrally sponsored
scheme that provides 100 days of guaranteed em-
ployment to every eligible rural household whose
adult members are willing to do unskilled manual
work.

(ii) In Rajasthan, it is run under the Chief Minister's
Rural Employment Guarantee Scheme (CMREGS).
In the budget 2022-23, it has been announced to
provide 125 days of employment to the family.

(iii) State provides unemployment allowance if employ-
ment is not provided within 15 days of applica-
tion.

(iv) At least one-third of the beneficiaries of this scheme
shall be women.

123. What is the objective of Amrit Sarovar Mission?
A. Development of 75 Amrit Sarovar in every district

of the country.
B. Development of 75 Amrit Sarovar in 75 districts

of the country.
C. Development of 75 Amrit Sarovar in each state of

the country.
D. Development of Amrit Sarovar in 75 cities of the

country.
[a] D [b] A
[c] C [d] B

Sol. [B]
'Mission Amrit Sarovar' was launched by the Prime
Minister on 24 April 2022. Its main objective is to reju-
venate 75 water bodies in each district of the country.
It is an initiative under the Amrit Mahotsav program
of Independence.
Each Sarovar will have a minimum pond area of 1 acre
and water holding capacity of about 10000 cubic metres.
Rajasthan's target is 2475 lakes.

124. What is the total length of rural roads in the state
by March 31, 2022?
[a]  43264 Km. [b] 145049 Km.
[c]  25768 Km. [d] 186462 Km.

Sol. [D]
• The total length of rural roads in Rajasthan (as

on 31 March 2022): 186462.10 km. Is. Percent-
age of villages connected by it: 88.39%.

• According to the 2011 census, there are 43, 264
villages in the state.

125. How much budget provision has been made for the
construction of buildings at each Panchayat Samiti
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125

[a] 50 [b] 75 
[c] 90 [d] 35 

Sol. [A]

2019-20 

50 00
126

1
2
3
4
[a] 1 2 [b] 1 3
[c] 1, 2 3 [d] 1 4

Sol. [B]

• [MPLAD] 
5 

•

•

•

127 RUDA

[a]
[b]
[c]
[d]

Sol. [C]
1995 

3
•
•
• (SCP)

headquarter under the Ambedkar Bhavan Yojana
of the Government of Rajasthan?
[a] 50 Lakh [b] 75 Lakh
[c] 90 Lakh [d] 35 Lakh

Sol. [A]
Ambedkar Bhawan Yojana of Rajasthan government
was announced in the year 2019-20. Under which
Ambedkar Bhavan will be constructed at each
Panchayat Samiti headquarters, the estimated cost of
one Ambedkar Bhavan will be Rs.50-00 lakhs.

126. Select the schemes implemented across state for
rural development by Rajasthan government-
1. Mahatma Gandhi Jan-Bhagidari Vikas Yojana
2. Border area development program
3. Magra area development program
4. Member of Parliament local area development

plan
[a] 1 and 2 [b] 1 and 3
[c] 1, 2 and 3 [d] 1 and 4

Sol. [B]
Central Government Scheme:
• Member of Parliament Local Area Development

Scheme, Under this, development works worth
Rs. 5 crore can be recommended by the MP.

• Border Area Development Program It was
started by the Center in the four border dis-
tricts of Rajasthan, Barmer, Bikaner,
Ganganagar and Jaisalmer during the Seventh
Five Year Plan.

State Government Scheme:
• Magra Area Development Program Scheme is

working in Ajmer, Bhilwara, Chittor,
Rajsamand and Pali of Rajasthan.

• Mahatma Gandhi Jan Bhagidari Vikas Yojana:
Applicable in rural areas of Rajasthan.

127. Select the sub-sectors which represented by
RUDA. (Rural Non-Farm Development
Agency)-
[a] Leather, Handicraft, Minor minerals
[b] Major minerals, stones, leather
[c]  Minor Minerals, Wool and Textile, leather
[d] Wool and Textile, Handicrafts, leather

Sol. [C]
Ruda was established in 1995. It is an indepen-
dent agency for the promotion of rural non-agri-
culture sector in Rajasthan.
It operates in 3 sectors.
• Leather
• Wool and textile
• Minor Minerals (SCP)
It also serves to obtain GI (Geographical Indica-
tion) for the crafts of the state.

128. Chief Minister Regional Development Scheme
has been started in Rajasthan-
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128.

[a] 2019-20 [b] 2020-21
[c] 2021-22 [d] 2022-23

Sol. [D]
2022-23 

2022-23 

129.

1.
2. 31 2026 

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [C]
2018-19 60 : 40 

130.
(GI Tag)
[a] 12 [b] 14
[c] 16 [d] 18

Sol. [C]
16 (G.I

Tag) 

131. 2023 

1.

2. 4
3. UNCTAD

[a] 1 3 [b] 3
[c] 1 2 [d]

Sol. [B]
• 2023

izokfl;ksa dks pkj Jsf.k;ksa esa foHkkftr fd;k gS& 

 

dq'ky vkfFkZd 
izoklh mnk-&Hkkjr 
ds IT is'ksoj 
flfydku osyh esa 

dkS'ky okys 'kj.kkFkhZ 
ftudh ek¡x gS 
mnk-&rqdhZ esa lhfj;k 
ds m|eh 

ladVxzLr izoklh 
mnk-&vesfjdk dh 
nf{k.kh lhek ds 
de dq'ky izoklh   

'kj.kkFkhZ  
mnk-&ckaXykns'k esa 
jksfgaX;k  

[a] Year 2019-20 [b] Year 2020-21
[c]  Year 2021-22 [d] Year 2022-23

Sol. [D]
Chief Minister Regional Development Scheme has
been started from the year 2022-23 in accordance
with the budget announcement 2022-23. The
objective of this scheme is to develop infrastructure
in remote, remote and backward areas of the state.

129. Consider the following statements related to Re-
vamped National Village Swaraj Campaign-
1. This is a Central Government scheme.
2. The duration of this scheme has been fixed till

March 31, 2026.
Choose the correct statement-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
This scheme is being operated from the year 2018-
19 with 60:40 Central-State funding. Its objective
is Panchayat capacity enhancement.

130. How many items have got Geographical Indica-
tion (GI Tag) in Rajasthan?

[a] 12 [b] 14

[c] 14 [d] 18
Sol. [C]

A total of 16 items have got Geographical Indica-
tion (GI) in Rajasthan. Ruda deals with obtaining
GI (Geographical Indication) for the crafts of the
state.

131. With reference to the World Development Re-
port-2023, consider the following statements
1. In this year's report, the main focus has been

on migrants and refugees.
2. Migrants are divided into 4 types.
3. It is published by UNCTAD.
Choose the incorrect statements-
[a] 1 and 3 only [b] 3 only
[c] 1 and 2 only [d] None of the above

Sol. [B]
World Development Report-2023 has been pub-
lished by the World Bank. Published under the
title Migrants, Refugees and Society.

Migrants are divided into four categories  

 

Skilled economic 
migrants Ex.- IT 
professionals 
from India to 
Silicon Valley 

Refugees with 
skills that are in 
demand 
Ex.-Syrian 
entrepreneurs in 
Türkiye 

Migrants in crisis  
Ex.- low-skilled 
migrants from 
the southern 
border of the US 

Refugees 
Ex.- Rohingya in 
Bangladesh 

In this report, migration take off was discussed under
the Match-Motive Framework. Dunjbi refers to the ex-
tent to which the skills of the migrated person match
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Match-Motive Framework
Match 

Motive 
40%

120%
132.

I II 
A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 3 2 4 [b] 3 4 2 1
[c] 3 4 1 2 [d] 1 2 3 4

Sol. [C]

1.
2.
3.
4.

133. (IBCA)

1. 50 

2.
3.

[a] [b]
[c] [d]

Sol. [B]
• 9 2023

• 97 
•

•

134.

1. 6 
2.

3.

[a] 1 [b] 1 2
[c] 2 [d]

Sol. [D]

the requirement of the destination countries.
Match under which the person moves forward in search
of opportunity.
The income of internal migrants has increased by 40%
while that of foreign migrants has increased by 120%.

132. Match the following pairs-
List-I List-II

(Center of Excellence) (Place)
A. Millets 1. Kota
B. Apiculture 2. Jaipur
C. Block Chain Technology 3. Jodhpur
D. Blue Pottery 4. Tonk

A B C D A B C D
[a] 1 3 2 4 [b] 3 4 2 1
[c] 3 4 1 2 [d] 1 2 3 4

Sol. [C]
Center of Excellence Location
1. Millets (coarse grains) Jodhpur
2. Blue Pottery Jaipur
3. Apiculture Tonk
4. Block chain technology Kota

133. With reference to the International Big Cat Alli-
ance (IBCA), consider the following statements:
1. It was launched by India on the 50th anniver-

sary of Project Tiger.
2. It targets all seven big cat species.
3. India is the only country where all the seven

species of cats live in their natural habitat.
How many of the above statements are correct-
[a] Only one [b] Only two
[c] Only three [d] None

Sol. [B]
• The International Big Cat Alliance was

launched by India on 9 April 2023.
• Nepal is its founding member, it is an

organization aimed at 97 countries.
• It includes the seven big cats (tiger, lion,

leopard, snow leopard, cheetah, jaguar and
puma).

• There is no country in the world where all the
seven big cats are found together.

134. With reference to the recognition of political
parties, consider the following statements-
1. Presently there are 6 national parties in India.
2. Aam Aadmi Party is the latest party to get the

status of a national party.
3. "Regional party status in four states" is one

basis for becoming a national party.
Correct statement from the above-
[a] 1 only [b] 1 and 2 only
[c] 2 only [d] All of the above

Sol. [D]
• The task of granting and withdrawing the

status of a national party is done by the
Election Commission under the
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•
1951 

• BJP, 
CPI (M), 

 

•
6%

• 2%

•

135.
I II

A. 1.
B. 2.
C. 3.

A B C A B C
[a] 3 1 2 [b] 3 2 1
[c] 2 1 3 [d] 2 3 1

Sol. [C]

vkWijs'ku dkosjh 2023 x`g ;q) ls izHkkfor lwM+ku ls Hkkjrh;ksa dks 
fudkyus gsrqA 

vkWijs'ku nsoh 'kfDr 2021 rkfycku ds dCts ds ckn vQxkfuLrku 
ls Hkkjrh;ksa dks fudkyus gsrqA 

vkWijs'ku xaxk 2022 :l ds geys ds ckn ;qØsu ls Hkkjrh;ksa 
dks fudkyus gsrqA 

 
136. G-20 

[a] [b]
[c] [d]

Sol. [D]
G- 20 

137. NATO 

[a] [b]
[c] [d]

Sol. [C]
• NATO

• NATO 4 1949
31

29 

Representation of the People Act-1951.
• Currently BJP, Indian National Congress, Aam

Aadmi Party, Bahujan Samaj Party, CPI (M),
National Peoples Party are recognized
national parties.

Criteria -
• A party should secure at least 6% of the votes

polled in four or more states in Lok Sabha or
assembly elections, and in addition, have at
least four members in the Lok Sabha

• It should have at least 2% of the total Lok
Sabha seats, and have candidates from not less
than three states.

• It is recognised as a state party in at least four
states.

135. Match the following pairs-
List-I List-II

A. Operation Kaveri 1. Afghanistan
B. Operation Devi 2. Sudan

Shakti
C. Operation Ganga 3. Ukraine

A B C A B C
[a] 3 1 2 [b] 3 2 1
[c] 2 1 3 [d] 2 3 1

Sol. [C]
Various relief and evacuation operations of India

Operation Kaveri 
2023 

To evacuate Indians from civil war 
affected Sudan. 

Operation Devi 
Shakti 2021 

To evacuate Indians from 
Afghanistan after the Taliban took 
over. 

Operation Ganga 
2022 

To evacuate Indians from Ukraine 
after the Russian attack. 

 136. Where was the G-20 Tourism Expo organized?
[a] Jodhpur [b] Udaipur
[c] Mount Abu [d] Jaipur

Sol. [D]
The G-20 Tourism Expo was organized in Jaipur
in the month of April.

137. Recently which country became the latest mem-
ber of NATO.
[a] Ukraine [b] Hungary
[c] Finland [d] Denmark

Sol. [C]
• Recently Finland has been made a new mem-

ber of NATO.
• The North Atlantic Treaty Organization (NTO)

was established on 4 April 1949. It is a mili-
tary alliance consisting of 31 members (29
European Nations + US and Canada). Head-
quarter is in Brussels (Belgium).

138. With reference to “Asian Wrestling Champion-
ship -2023”, consider the following statements-
1. It was organized in Astana city of Kazakhstan.
2. India won total of 14 medals including one
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138. 2023

1.
2. 14 
3.

[a] 1 [b] 1 2
[c] 2 3 [d]

Sol. [D]
•
• 7 

• 1 3 10 
• 3 

139.
I II

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 4 2 3 [b] 4 3 1 2
[c] 2 4 3 1 [d] 3 4 1 2

Sol. [B]
• WADA

4 
•

•

•

140.

[a]
[b]
[c]
[d]

Sol. [D]
(ISA) 2016 

2023 ISA 

141. Match Motive Framework 

1.

gold.
3. Aman Sehrawat won the gold medal in the

freestyle category.
Which of the above is incorrect statement-
[a] 1 only [b] 1 and 2 only
[c] 2 and 3 only [d] None of the above

Sol. [D]
• All the statements are correct.
• India finished 7th in the Asian Wrestling

Championship.
• India won 1 gold, 3 silver and 10 bronze  med-

als.
• Kazakhstan, Japan and Iran occupied the top

3 positions.
139. Match the following pairs-

List-I List-II
A. Sanjita Chanu 1. Archery
B. Priyanshu Rajawat 2. Tennis
C. Jyoti Surekha Veman 3. Badminton
D. Daneil Medvedev 4. Weightlifter

A B C D A B C D
[a] 1 4 2 3 [b] 4 3 1 2
[c] 2 4 3 1 [d] 3 4 1 2

Sol. [B]
• Sanjita Chanu (Manipur) is a weight lifter. Has

imposed a ban of 4 years.
• Priyanshu Rajawat (Madhya Pradesh) is a

Badminton player who won the title of Orleans
Masters.

• Jyoti Surekha Veman Gold Medal in Archery
World Cup (Singles) Jyoti Surekha Veman and
Ojas Pravin Deotale (Mixed) Gold

• Daniil Medvedev (Russia) Tennis player who
won the Miami Open.

140. Recently who has been awarded the Interna-
tional Prize in Statistics?
[a] P.C. Mahalanobis
[b] Raj Subramaniam
[c] S.R. Srinivasa Vardhan
[d] C.R. Rao

Sol. [D]
The International Prize in Statistics (ISA) was
started in 2016. This award is given once in two
years.
The fourth ISA was awarded to Kalyampudi
Radhakrishna Rao in 2023.

141. Consider the following statements in the con-
text of Match Motive Framework-
1. It has been developed by the World

Bank.
2. Match refers to the circumstances under which

a person moves in search of opportunity.



Page 48

2. Match 

3. Motive 

[a] [b]
[c] [d]

Sol. [B]
• 2023

• Match-Motive Framework

• Match 

• Motive 

• 40%
120%

142.
1. 2.
3. 4.
5.

[a] 1, 2, 5 [b] 2, 3, 5
[c] 2, 4, 5 [d] 1, 2, 4, 5

Sol. [A]
5 

143.

[a] [b]
[c] [d]

Sol. [D]
Giorgia Meloni 

AI 

144.

1.
(SDSN)

2. 36 27 

3.

3. Motive refers to matching the skills of migrants
with the needs of the destination country.

How many of the above statements are correct-
[a] Only two are correct.
[b] Only one is correct.
[c] All three are correct.
[d] All the statements are wrong.

Sol. [B]
• World Development Report-2023 has been

published by the World Bank. Published un-
der the title Migrants, Refugees and Society.

• In this report, migration take off was discussed
under the Match-Motive Framework.

• Match refers to the extent to which the skills
of the migrated person match the requirement
of the destination countries.

• Motive under which the person moves for-
ward in search of opportunity.

• The income of internal migrants has increased
by 40% while that of foreign migrants has in-
creased by 120%.

142. Which countries are included in NATO (plus)-
1. Japan 2. Australia
3. Germany 4. North Korea
5. Israel
Choose the correct option from the following-
[a] 1, 2, 5 [b] 2, 3, 5
[c] 2, 4, 5 [d] 1, 2, 4, 5

Sol. [A]
NATO Plus consists of 5 countries which are given
the noun of "Five Eye".
This includes US allies outside NATO.
Australia, New Zealand, Japan, Israel and South
Korea.

143. Which country has recently banned the use of
English language by its citizens?
[a] Iran [b] China
[c] North Korea [d] Italy

Sol. [D]
Giorgia Meloni has become the Prime Minister
who is considered to be extreme right wing.
His right-wing steps include restrictions on AI and
the English language.

144. With reference to the happiness ranking of the
states, consider the following statements-
1. It is published by the Sustainable Develop-

ment Solutions Network (SDSN).
2. Rajasthan secured 27th position among 36

states/UTs.
3. Himachal Pradesh got the first position.
Which of the is correct statement from aboves-
[a] 1 only [b] 2 and 3
[c] 1 and 2 [d] All of the above

Sol. [B]
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[a] 1 [b] 2 3
[c] 1 2 [d]

Sol. [B]
•

• 27 36 

•
•
•

145.
[a] [b]
[c] [d]

Sol. [D]

146.

1.

2.
3.
4.

[a] 1, 3 4 [b] 1 2
[c] 2, 3 4 [d]

Sol. [C]
•

•

•
•

147. Y-20 (G-20 )

[a] [b]
[c] [d]

Sol. [D]Y-20  
148.

[a]
[b]
[c]
[d]

Sol. [B]
• (SCO) 2001 

• On the lines of Sustainable Development So-
lutions Network, Happy Plus Consultancy has
released happiness ranking for states.

• Rajasthan secured 27th position All 36 states/
UTs were included.

• Himachal Pradesh stood first.
• The North Eastern and Island states got higher

position.
• Uttar Pradesh stood last.

145. Where is the Rajasthan Institute of Advanced
Learning located?
[a] Jodhpur [b] Udaipur
[c] Kota [d] Jaipur

Sol. [D]
Rajasthan Institute of Advanced Learning is Situ-
ated in Jaipur.

146. With reference to the SIPRI (Stockholm Inter-
national Peace Research Institute) report, con-
sider the following statements-
1. It is an intergovernmental organization moni-

toring military expenditure in the world.
2. India ranks fourth among top military spend-

ing nations.
3. America is the world's largest arms exporter

country.
4. India is the largest arms importer country.
Select the correct statement from the above-
[a] 1, 3 and 4 [b] 1 and 2
[c] 2, 3 and 4 [d] All of the above

Sol. [C]
• SIPRI is a non-governmental organization, it

publishes reports related to the state of peace
and weapons in the world.

• The top military spenders are the US, China,
Russia, India and Saudi Arabia.

• India is the biggest arms importer country.
• Russia is the biggest export for India.

147. Where was the meeting of Y-20 (Engagement
Group of G-20) held?
[a] Jaipur [b] Srinagar
[c] Bhopal [d] Leh

Sol. [D]
• Y-20 meeting was organized in Leh.

148. Which of the following countries are members
of the Shanghai Cooperation Organization?
[a] India, Turkmenistan, China, Russia
[b] Iran, Pakistan, Uzbekistan, Russia
[c] Pakistan, Turkmenistan, China, Russia
[d] India, Russia, Afghanistan, China

Sol. [B]
• The Shanghai Cooperation Organization

(SCO) was established in 2001. Its headquar-
ter is in Beijing (China).
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•

2017 

149.
1.
2.
3.

[a] 1 2 [b] 2
[c] 3 [d]

Sol. [C]
•

(ECOSOC)
• ECOSOC 2022-24 
• 8 
• 2020-21 

• HIV 

ECOSOC 
150. LIGO 

1.

2. LIGO LIGO INDIA 

[a] 1 [b] 2
[c] 1 2 [d] 1, 2

Sol. [C]
•

100 2015 LIGO 

•

LIGO 
2030 

• China, Kazakhstan, Russia, Uzbekistan,
Kyrgyzstan, Tajikistan are its founding mem-
bers. India and Pakistan joined it in 2017. Iran
has been made a member of the recently held
summit in India.

149. Presently India is a member of which body?
1. United Nations Statistical Commission
2. United Nations Security Council
3. United Nations Economic and Social Council
Code:
[a] 1 and 2 only [b] 2 only
[c] 3 only [d] All of the above

Sol. [C]
• India is currently part of United Nations Economic

and Social Council (ECOSOC)  only.
• India is a member of ECOSOC till 2022-24.
• India has been a member of the United Nations

Security Council for 8 times.
• India was a member of the United Nations

Security Council for the last time in 2020-21.
• United Nations Statistical Commission,

United Nations HIV AIDS Program
Coordinating Board, United Nations Drug
Control Commission are part of ECOSOC.

150. Consider the following statements about LIGO
(Laser Interferometer Gravitational Web
Observatory)-
1. It is an observatory capable of detecting

gravitational waves.
2. On the lines of LIGO, LIGO INDIA has been

started in Hingoli, Maharashtra.
Which of the above is correct statement-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
• Gravitational waves are very weak and it is

difficult to detect them. They were detected
by LIGO in 2015, 100 years after Einstein's
prediction.

• LIGO is being set up in Hingoli Maharashtra
under an agreement with the US National
Science Foundation by the Department of
Atomic Energy and Department of Science and
Technology in India and is expected to be
completed by 2030.
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DATE

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
B B A C A D A A A D C B A A C
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
B C A D D C C D A D A B D D A
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
A B A C A D A A B A C A B A C
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
C A C A B D A A B B C A A D B
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
D D C A B B A A D C D C A B A
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
A C C C D D D D C D A A C D C
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
A B D C A B B B D C C A B C A

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
B D B D A D B A B D D C D D C

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
C A B D A B C D C C B C B D C

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
D C D B D B A D B D C D B C C
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